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1. In the following series of numbers, find out how many

times 1, 3 and 7 have appeared together, 7, being in

the middle and 1 and 3 on either side of 7.

2  9  7  3  1  7  3  7  7  1  3  3  1  7  3  8  5  7

1  3  7  7  1  7  3  9  0  6

(1) 3 (2) 4

(3) 5 (4) More than 5

Answer (1)

Sol. 2  9  7  3  1  7   3  7  7  1  3  3  1  7   3  8

5  7  1  3  7  7  1  7   3  9  0  6

3 times, So option (1) is the correct answer.

2. Direction : In the following question insert the

missing number in place of question mark from the

given alternatives.

9

40

48

6

5
?

(1) 54 (2) 70

(3) 72 (4) 80

Answer (3)

Sol.
9

40

48

6

5
?

In this question each number is multiplied by 8 to

get the number diagonally opposite to it.

5 × 8  = 40

6 × 8  = 48

9 × 8  = 72

3. The following questions are based on letter series in

which some letters are missing. The missing letters

are given in a proper sequence as one of the

alternatives among the given four alternatives under

the question.

b __ abbc __ bbca __ bcabb __ ab

(1) acaa (2) acba

(3) cabc (4) cacc

Answer (3)

Sol. bcab/bcab/bcab/bcab/bcab

So answer is cabc

4. The numbers have been arranged under some rule.

Based on that rule, which number will come in place

of the question mark?

4, 5, 8, 17, 44, ?

(1) 102 (2) 104

(3) 125 (4) 110

Answer (3)

Sol.

?4  ,   5    8   17   44       125, , ,

3      3             
o 1 2 3 4

3 3 3

So, answer is 125

5. In the question below is given two or more

statements followed by two conclusions numbered I

and II. You have to take the given statements to be

true even if they seem to be at variance from

commonly known facts. Read all the conclusion and

then decide which of the given conclusions logically

follows from the given statements disregarding

commonly known facts

Statements:

No giraffe is leopard.

All leopards are kangaroos.

All kangaroos are wolfs.

Conclusions:

(I) All kangaroos can never the giraffes.

(II) All giraffes are definitely wolfs.

Given Answer

(1) If only conclusion I follows

(2) If only conclusion II follows

(3) If either conclusion I or conclusion II follows

(4) If both conclusion I and II follows

Answer (1)

Sol. Giraffe
x

Leopard

K
a
ngaro

o

Wolf

x

Conclusion(1) is true as all leopards are kangaroos

and it is also given that no giraffe is a leopards. So

all the kangaroos can never be giraffes is true.

Conclusion (2) is false as we can see from the basic

Venn-Diagram that there are no giraffes that are wolfs.

PAPER-I : MENTAL ABILITY TEST (MAT)



3

6. Identify the figure that completes the pattern (x)

?

(X)

(1) (2) (3) (4)

Answer (3)

Sol.

7. A monkey climbs 10 meters at the beginning of each

hour and rest for a while when he slips back 5

metres before he again starts climbing in the

beginning next hour. If he starts climbing at 8 a.m.

at what time will be first touch the flag at 50 metres

from the ground?

(1) 4 p.m. (2) 5 p.m.

(3) 6 p.m. (4) 7 p.m.

Answer (2)

Sol. First, find out the time to reach (50–10) = 40 mtr.

In 1 hour he reach [10 mtr ( ) – 5 mtr ( )] = 5 mtr.

So, to reach 40 mtr he takes = 8 hrs.

In next hour he takes a jump of 10 mtr and reach

the top.

So total time to reach the top is 9 hrs.

It reach the top by 5:00 PM.

8. Which number replaces the question mark?

2

7 4

9

5

5 6

6

11

3 2

6

1

8 4

?

(1) 9 (2) 11

(3) 12 (4) 13

Answer (1)

Sol.
2

7 4

9

11

3 2

6

5

5 6

6

1

8 4

?

Sum of the numbers in each square is 22.

9. Which number replace the question mark in the

figure given below?

3

3

4

2

3

GNQ

RBS

TUA

FPC

OLH

8

9

2

5

?

(1) 3

(2) 5

(3) 8

(4) 9

Answer (2)

Sol.
3

3

4

2

3

GNQ

RBS

TUA

FPC

OLH

8

9

2

5

?

G  7 N  14 Q   17

G + N + Q = 38

Now, 38 is used as 3 on the left side and 8 on the

right side.

Similarly

O  15 L  12 H  8

O + L + H = 35

So In place of (?) we get 5.

10. In a family of eight people, lawyer is married to a

teacher and has three sons, one engineer, one

doctor and one actor. The actor's wife is a dancer

and aunt of Emily. Emily, the daughter of engineer

learns martial arts with her brother Joseph. How is

doctor related to Joseph?

(1) Son

(2) Brother

(3) Nephew

(4) Uncle

Answer (4)
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Sol. Lawyer TeacherMarried

Son

Engineer
+

Doctor
+

Actor
+

Dancer
–

SonSon

Brother

(+)      Male   

(–)      Female

Daughter Uncle

Emily
–

Jospeh
+

Married

Son

So Doctor is uncle of Jospeh.

11. Which of the following is mirror image of the

figure (x) given?

(x)

(1) (2)

(3) (4)

Answer (1)

12. Arrange the following words as per order in the

dictionary

(1) Tortoise (2) Torrid

(3) Torso (4) Torque

(5) Tortuous

Options:

(1) 4, 2, 3, 1, 5 (2) 3, 2, 4, 1, 5

(3) 2, 3, 4, 5, 1 (4) 4, 3, 2, 1, 5

Answer (1)

13. The reflex angle between the hands of a clock at

10:25 is

(1) 180° (2)
1

192
2



(3) 195° (4)
1

197
2



Answer (4)

Sol. M 
2

11
  (30 T

1
 + °)

M = 48 minute and T
1
 = 10

25 = 
2

11
 (30 × 10 + °)

275
300

2
  

° = –300 + 
275

2

= 
600 275

2

 
 = 

325

2


 = 

1
162

2




So, angle is 
1

162
2



To find reflex angle subtract it from 360o.

 1 1
360 162 197

2 2

 
 

Direction (Q.14 to Q.16) : In the following figure small

square represents the persons who know English, triangle

to those who Marathi, big square to those who know

Telugu and circle to those who know Hindi. In the

different regions of the figures from 2 to 12 are given.

14. How many persons can speak English and Hindi

both languages only?

(1) 5 (2) 8

(3) 7 (4) 18

Answer (1)

15. How many persons can speak English, Hindi and

Telugu?

(1) 8 (2) 2

(3) 7 (4) 10

Answer (2)

16. How many persons can speak all the languages?

(1) 1 (2) 8

(3) 2 (4) None

Answer (4)

Sol.

10

9

8

7
6

3

4

2

5

12

11
Hindi

Telugu

English
Marathi
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17. Choose the alternative which closely resembles the

water-image of the given combination.

DISC

(1) CSID (2)

DIC

(3) DI C (4) DISC

Answer (3)

Sol. DISC

DI C

18. First bunch of bananas has (1/4) again as many

bananas as second bunch. If the second bunch has

three bananas less than the first bunch, then the

number of bananas in the first bunch are

(1) 9 (2) 10

(3) 12 (4) 15

Answer (4)

Sol. Let, Second bunch has x bananas

Then, First bunch has 
x 5x

x
4 4
   bananas

A.T.C

5x
x – 3

4


 x = 12

Bananas in the first bunch 
5 12

15
4

   bananas

19. Six sides of a cube are coloured in the following

manner

White

Blue

R
e
d

Black

Orange

Y
e
ll
o
w

Blue and orange are opposite and Red is on the top

which colour will be at the bottom?

(1) Black (2) White

(3) Orange (4) Yellow

Answer (1)

Sol.

White Red

Blue

YellowBlack

Orange

Direction (Q.20 to Q.23) : There are eight persons namely

A, B, C, D, E, F, G and H lives on eight different floors

from one to eight. Ground floor is number 1 and top floor

is number eight but persons do not necessarily live in the

same order. Only three persons live below the floor on

which E lives. Two persons live between the floor on which

E and H live. More than one person live between the floor

on which E and A lives. C lives immediately above G. C

lives on odd numbered floor. Only one person lives

between B and F. B lives one of the above floor on which

F lives. D lives on even numbered floor but not on

2nd floor.

20. Who lives on floor number eight?

(1) B (2) C

(3) A (4) D

Answer (3)

Sol. According to the given information

Floor Number-1  H

Floor Number-2  G

Floor Number-3  C

Floor Number-4  E

Floor Number-5  F

Floor Number-6  D

Floor Number-7  B

Floor Number-8  A

21. How Many persons live between F and A?

(1) One (2) Three

(3) Five (4)  Two

Answer (4)

Sol. According to the given information

Floor Number-1  H

Floor Number-2  G

Floor Number-3  C

Floor Number-4  E

Floor Number-5  F

Floor Number-6  D

Floor Number-7  B

Floor Number-8  A

22. Who lives immediate below G?

(1) B (2) H

(3) A (4) E

Answer (2)
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Sol. According to the given information

Floor Number-1  H

Floor Number-2  G

Floor Number-3  C

Floor Number-4  E

Floor Number-5  F

Floor Number-6  D

Floor Number-7  B

Floor Number-8  A

23. Who lives on third floor?

(1) C (2) F

(3) E (4) D

Answer (1)

Sol. According to the given information

Floor Number-1  H

Floor Number-2  G

Floor Number-3  C

Floor Number-4  E

Floor Number-5  F

Floor Number-6  D

Floor Number-7  B

Floor Number-8  A

24. Which of the following Venn diagrams indicates the

best relation between Travellers, Train and Bus?

(1) (2)

(3) (4)

Answer (3)

Sol. Bus and train are different from each other but some

travellers travel by bus and some by train.

25. Group the given 9 figures into three classes using

each figure only once

1 2 3

4 5 6

7 8
9

(1) 1, 3, 9; 2, 5, 6; 4, 7, 8

(2) 1, 3, 9; 2, 7, 8; 4, 5, 6

(3) 1, 2, 4; 3, 5, 7; 6, 8, 9

(4) 1, 3, 6; 2, 4, 8; 5, 7, 9

Answer (1)

Sol. 1, 3, 9 have one element placed inside a different

element.

2, 5, 6 contain two mutually perpendicular lines

dividing the figure into four parts

4, 7, 8 have two similar elements (unequal in size)

attached to each other.

26. Find the odd one out

331, 482, 551, 263, 383, 362, 284

(1) 263 (2) 383

(3) 331 (4) 551

Answer (2)

Sol. Product of the digits is a perfect square.

for eg:- 331 = 3 × 3 × 1 = 9, 263 = 2 × 6 × 3 = 36

383 = 3 × 8 × 3 = 72 (which is not a perfect square)

27. Find the number of triangles in the below figure?

(1) 20 (2) 22

(3) 16 (4) 28

Answer (4)

Sol. There are two rectangles each contain 8 triangles

and 12 triangles in between two rectangles

 8 + 8 + 12 = 28.

28. The words in the bottom row are related in the same

way as the words in the top row. For each item, find

the word that completes the bottom row of words

ant fly bee

hamster squirrel ?

(1) Spider (2) Mouse

(3) Rodent (4) Cat

Answer (2)

Sol. The three in the above line are Arthropoda. The

hamster and squirrel are rodents, so the correct

choice is mouse because the mouse is also a

rodent. The other three choices are not rodents

29. In the question below an equation becomes incorrect

due to the interchange of two signs. One of the four

alternatives under it specifies the interchange of

signs in the equation, Which when made will make

the equation correct.

Find the correct alternative:

5 + 6  3 – 12 × 2 = 17

(1) ÷  and × (2) +  and ×

(3) +  and ÷ (4) +  and –
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Answer (1)

Sol. 5 + 6  3 – 12 × 2  17

On interchanging and ×

5 + 6 × 3 – 12  2 = 17

30. Today is Monday. After 61 days it will be

(1) Tuesday (2) Monday

(3) Sunday (4) Saturday

Answer (4)

Sol. If today is Monday then 57th day is also Monday

and the day after 61 days is Saturday

31. The figure (x) is folded to form a box. Choose from

the alternative (i), (ii), (iii) and (iv) the boxes that is

similar to the box formed.

(1) (ii) and (iii) only

(2) (i), (iii) and (iv) only

(3) (ii) and (iv) only

(4) (i) and (iv) only

Answer (2)

32. Direction: Study the following information and

answer the question given below it.

There is a group of five persons K, G, H, R and J.

(i) K, G and H are intelligent.

(ii) K, R and J are hard-working.

(iii) R, H and J are honest.

(iv) K, G and J are ambitious.

Which of the following person is neither hard-working

nor ambitious?

(1) K (2) G

(3) H (4) R

Answer (3)

Sol. For neither working, there are two options —G, H

and after adding neither hard working condition

answer is H.

33. In a school 80 students have registered for a singles

carrom tournament. Each match eliminates one

player. How many matches are to be organised to

determine the champion?

(1) 40 (2) 41

(3) 79 (4) 80

Answer (3)

34. Choose a figure which would most closely resemble

the unfolded form of figure (Z).

(1) (2)

(3) (4)

Answer (3)

35. If Z = 52 and ACT = 48 then BAT will be equal to

(1) 39 (2) 41

(3) 44 (4) 46

Answer (4)

Sol. Z = 52 = 26 × 2

ACT = 2 × 2 + 3 × 2 + 20 × 2

= 48

So  BAT = 2 × 2 + 1 × 2 + 20 × 2 = 46

36. How many triangles are there in the following figure?

(1) 10 (2) 6

(3) 8 (4) 5

Answer (1)

Sol. Total Triangles = 10

37. How many days are there in x weeks and x days?

(1) 7x2 (2) 8x

(3) 14x (4) 7

Answer (2)

Sol. No. of days in x weeks = 7x

So total no. of days = 7x + x = 8x
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38. Choose the correct option which would complete the

figure (x)

(1) (2)

(3) (4)

Answer (*)

39. At what time between 7 and 8 O'clock will the

hands of a clock be in the same straight line but,

not together?

(1) 5 min. past 7 (2)
2

5
11

 min. Past 7

(3)
3

5
11

 min. Past 7 (4)
5

5
11

 min. Past 7

Answer (4)

Sol. Use formula of required time M = 
11

2
(30T

1
  )

T
1 

> 6, use negative sign.

T
1
 < 6, use positive sign.

40. In the given table numbers are written according to

some pattern and one number is missing. Find the

missing number that replaces the question mark.

12 47 21

10 52 4

64 ? 24

(1) 16 (2) 40

(3) 62 (4) 83

Answer (4)

Sol.

12 47 21 10 52 4

64 83 24

4 × 3 7 × 3 5 × 2 2 × 2

8 × 8 3 × 8

41. If B5D means B is the father of D.

B9D means B is the sister of D.

B4D means B is the brother of D.

B3D means B is the wife of D.

Which of the following means F is the mother of K?

(1) F3M5K

(2) F5M3K

(3) F9M4N3K

(4) F3M5N3K

Answer (1)

Sol. Use given conditions

42. A clock is set right at 5 A.M. The clock loses 16

minutes in 24 hours. What will be the exact time

when the clock indicates 10 P.M. on fourth day?

(1) 11 P.M. (2) 12 P.M.

(3) 1 P.M. (4) 2 P.M.

Answer (1)

Sol. Total hours = 89

We can say that 23 hours 44 min. of this clock is

24 hours of correct clock.

Therefore 89 hours of this clock

= 
24 15

89
356

  = 90 hours

So correct time is 11:00 PM

43. Select a figure from the given four alternatives, which

placed in the (?) which complete the pattern

Problem Figures:


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Answer Figures:

(1) (2)

(3) (4)

Answer (3)

44. Choose the pair that best represents a similar

relationship to the expressed in the original pair or

words

MONK : DEVOTION

(1) Maniac : Pacifism

(2) Explorer : Contentment

(3) Visionary : Complacency

(4) Rover : Wanderlust

Answer (4)

45. In the question given below, find out the alternative

which will replace the question mark?

123 : 132 : : 235 : ?

(1) 232 (2) 352

(3) 253 (4) 252

Answer (3)

Sol.

123 : 13
2
: 235 : 25

3

46. If South-East becomes North, and North– East

becomes West, then West becomes:

(1) North – East (2) South – East

(3) North – West (4) South – West

Answer (2)

Sol. Each direction is rotated by angle of 135° in

anticlockwise direction

s

w

N

E

47. If diamond is called gold, gold is called silver, silver

is called ruby and ruby is called emerald, which is

the cheapest jewel?

(1) Diamond

(2) Silver

(3) Gold

(4) Ruby

Answer (4)

Sol. Cheapest jewel is silver so answer is ruby

48. In the following figure triangle represents 'girls',

rectangle 'players' and circle 'coach'. Which part of

diagram represents the girls who are player but not

coach?

Coach

Players

U

TRQ

S

P

Girls

(1) P

(2) Q

(3) R

(4) S

Answer (2)

49. If A$B means A is the father of B; A#B means A is

the sister of B; A*B means A is the daughter of B

and A@B means A is the brother of B. Which of the

following indicates that M is wife of Q ?

(1) Q$R#T@M

(2) Q$R@T#M

(3) Q$R*T#M

(4) Q$R@T*M

Answer (4)

Sol. Q $ R  Q is father of R

R @ T  R is brother of T

T * M  T is daughter of M

Q

R
T

(Father)

(Daughter)

(Brother)


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Direction: (Q.50 & 51) Which one of the answer figure

would occupy the next position in the problem figure, if

the change continue in same order

50. Question Figures :

Answer Figures:

C

Z

(1) (2) (3) (4)

Answer (2)

51. Question Figures :

Answer Figures:

(1) (2) (3) (4)

Answer (4)

52. In the question below, two words are given. These

words are related to each other in some way. You are

required to find out the relationship between the first 2

words and choose the word from the given alternative,

which bears the same relationship to the third word.

Malaria : Disease : : Spear : ?

(1) Wound (2) Sword

(3) Weapon (4) War

Answer (3)

Sol. Malaria is a disease and spear is a weapon.

53. Choose the set of figures which follows the given rule.

Rule : Any figure can be traced by a single unbroken

line without retracting.

(1)

(2)

(3)

(4)

Answer (2)

54. Find out from amongst the four alternatives as to how

the pattern would appear when the transparent sheet

is folded at the dotted line.

(1) (2) (3) (4)

(X)

Answer (1)

55. In a certain code BOXER, is written as AQWGQ.

How VISIT is written in that code ?

(1) UKRKU (2) UKRKS

(3) WKRKU (4) WKRKS

Answer (2)

Sol. B O X E R

A Q W G Q

–1 +2 –1 +2 –1

V I S I T

U K R K S

–1 +2 –1 +2 –1

56. The first unit contains two figures and the second

unit contains one figure and a question mark. Find

out which one of the answer figure should be placed

at question mark ?

Problem Figures :

?
Anwer Figures :

(1) (2) (3) (4)

Answer (4)
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57. If : 3 + 9 = 31

15 + 27 = 95

18 + 9 = 36

then, 12 + 27 = ?

(1) 94 (2) 14

(3) 49 (4) 53

Answer : (1)

Solution : 3 + 9 = 31          3 × 1 + 3 × 3    31⇒ ⇒

15 + 27 = 95      3 × 5 + 3 × 9    95⇒ ⇒

18 + 9 = 36        3 × 6 + 3 × 3    36⇒ ⇒

12 + 27 =           3 × 4 + 3 × 9    94⇒ ⇒

58. Choose the pircture that would go in the empty box

so that the two bottom pictures are related in the

same way as the top two are related -

(1) (2)

(3) (4)

Answer (2)

59. Statement : Some keys are staplers. Some staplers

are stickers. All the stickers are pens.

Conclusions :

I. Some pens are staplers.

II. Some stickers are keys.

III. No sticker is key.

IV. Some staplers are keys.

(1) Only (I) and (II)

(2) Only (II) and (IV)

(3) Only (II) and (III)

(4) Only (I) and (IV) and either (II) or (III)

Answer (4)

Sol.

Stapler

Sticker

Pen

Key

OR

Stapler

Sticker

Pen

Key

60. If ‘nso ptr kli chn’ stands for ‘sharma get marriage

gift’, ‘ptr lnm wop chm’ stands for ‘wife gives

marriage gift’, ‘tti wop nhi’ stands for ‘he gives

nothing’ what would means ‘gives’?

(1) chn (2) nhi

(3) ptr (4) wop

Answer (4)

Sol.

‘ptr lnm wop chm’  ‘wife gives marriage gift’

‘tti wop nhi’  ‘he gives nothing’

Both of the above has ‘gives’ common in RHS and

‘wop’ in LHS. So ‘gives’ means ‘wop’

61. Select a figure from the given four alternatives, which

placed in the (?)

Problem Figures :

Answer Figures :

(1) (2) (3) (4)

Answer (4)

62. How many quadrilaterals are there in the given figure?

(1) 10 (2) 11

(3) 12 (4) 13

Answer (4)

63. Figure below represents a balance, which symbol

replaces (?)

Figure 1

Figure 2

Figure 3?

(1) (2)

(3) (4)

Answer (4)
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Sol.
Figure 1

Figure 2

Figure 3?

Let Circle = C, Square = S, Triangle = T

From Figure 1 :  C + S = T .............(1)

From Figure 2 :  S + T = 5C ...........(2)

From Figure 3:

4C = k(Let unknown) + S ..........(3)

From (1), (2) and (3)

k = S

i.e. 1 square 

64. In a certain code, RIPPLE is written as 613382 and

LIFE is written as 8192. How is PILLER written in

that code?

(1) 318826 (2) 318286

(3) 618826 (4) 338816

Answer (1)

Sol.  R  I  P  P  L  E L  I  F  E

6 1 3 3 8 2 8 1 9 2

P  I  L  L  E  R

3 1 8 8 2 6

65. Which option replaces the question mark (?) in the

figure given below?

?

(1) (2) (3) (4)

Answer (1)

Sol. Figure (I) and figure (III) is combined to form the

figure (II) in each row.

66. There are two statements given below as premises,

which support the conclusion suggested in the

answer options. You may select the conclusion that

makes the whole argument valid.

Statements :

I. No film actors are cricketers.

II. Some cricketers are poets.

Therefore :

(1) Some poets are film actors.

(2) Some poets are not film actors.

(3) All poets are film actors.

(4) All film actors are poets.

Answer (2)

Sol. Film Actor

Poet
Cricketer

These poet are not Film Actor

X X

67. Pick the odd one out among the following options

(1) Quiet – Calm (2) Seldom – Never

(3) Peace – Tranquil (4) Rapid – Slow

Answer (4)

Sol. Rapid and slow are opposite, rest are not.

68. Look at this series: 664, 332, 340, 170, ?, 89, .....

What number should be placed at (?)

(1) 85 (2) 97

(3) 109 (4) 178

Answer (4)

Sol.

664 332 340 170

178

89

664  2  332  8  340  2  170  8  178  2 

?

69. Choose the alternative which is closely resembles

the mirror image of the given combination.

QUALITY

(1) (2)

(3) (4)

Answer (3)

Sol.

70. In this question there is a set of three figures X, Y

and Z showing a sequence of folding of a piece of

paper. Figure (Z) shows the manner in which the

folded paper has been cut. These three figures are

followed by four answer figures from which you have

to choose a figure which would most closely

resemble the unfolded form of Fig. (Z)

X Y Z
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(1) (2)

(3) (4)

Answer (1)

71. In the following problem of substraction find out the

number which does not stand for CARE

CAR

ARE

222

-

(1) 8640 (2) 6420

(3) 7531 (4) 9753

Answer (1)

Sol.
CAR

ARE

222

-

CARE

8640

CARE

6420

CARE

7531

CARE

9753

864

640-

642

420-

753

531-

975

753-

224 222 222 222

72. A dice with six faces is marked with six numbers 1,

2, 3, 4, 5 and 6 respectively. This dice is rolled three

times and three positions are shown as :

1

2 3

4

5

6

3 5 2

Find the number opposite to 1

(1) 2 (2) 6

(3) 5 (4) 4

Answer (3)

Sol.

1

2 3

4

5

6

3 5 2

Opposite to 3  1, 2, 4, 5 can’t come

Opposite to 3 = 6

Opposite to 2  1, 3, 5, 6 can’t come

  Opposite to 2 = 4

 Opposite to 1 = 5

73. If the position of the first and the sixth letters of the word

‘UNIFORMITY’ are interchanged, similarly the position of

2nd with 7th letter 3rd with 8th letter, 4th with 9th and

5th with 10th letter are interchanged. Which letter will be

4th from the right end after arrangement?

(1) I (2) U

(3) M (4) N

Answer (4)

Sol.

U N I F O R M I T Y

N

R M I T Y U N I F O

(4th from right after arrangement)

74. Select a suitable figure from the four alternatives that

would complete the figure matrix.

?

(1) (2)

(3) (4)

Answer (2)

Sol. The two parts of the first figure are rearranged and

joined along longer sides. The common side is then

lost to form the second figure.

Direction : (Q. No. 75 & 76) In the following questions

which number will replaces question mark?

75.

2 

3 

4 5 12

3 

6 

2 5 18

9 

2 

2 5 ?

(1) 15 (2) 18

(3) 17 (4) 16

75. Answer (2)

Sol.

2 

3 

4 5 12

3 × 4 × 2 × 5

10
= 12

6 × 2 × 3 × 5

10
= 18

3 

6 

2 5 18

9 × 2 × 2 × 5

10
= 18

9 

2 

2 5 ?

76. 6 18 15

3 2 5

4 3 ?

8 27 9

(1) 2 (2) 11

(3) 3 (4) 6
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Answer (3)

Sol. Row 1 × Row 3 =  Row 2 × Row 4

6 × 4 = 8 × 3 = 24

18 × 3 = 27 × 2 = 54

? × 15 = 9 × 5 = 45

? = 3

77. In the question below select a figure from amongst

the four alternatives, which when placed in the (?) of

figure (x) would complete the pattern.

Identify the figure that completes the pattern.

?

(X)

(1) (2) (3) (4)

Answer (2)

Sol.

78. What number will come next in the given series?

36, 34, 30, 28, 24, ?

(1) 20

(2) 22

(3) 23

(4) 26

Answer (2)

Sol. 36 34 30 28 24

–2 –2 –2

22

–4 –4

79. If M%N means M is the son of N. M@N means M

is the sister of N. M$N means M is the father of N.

Than which of the following shows the relation that

C is granddaughter of E?

(1) C % B $ F $ E

(2) B $ F $ E % C

(3) C @ B % F % E

(4) E % B $ F $ C

Answer (3)

Sol. C is sister of B  B is son of F  F is son of E

80. By using your numerical and logical reasoning skills

please try to find out which number is missing in the

question below. The numbers around will give you the

clues you need to solve the puzzle -

4 3 2

5 3 5 1 1

6 1 2 8 3 3 1

7 2 8 4 3

9 ? 3

(1) 9 (2) 4

(3) 5 (4) 6

Answer (4)

Sol. 

4 3 2
5 3 5 1 1

6 1 2 8 3 3 1
7 2 8 4 3

9 ? 3

⇒ (4 + 2)/2 = 3

⇒ (5 + 3 + 1 + 1)/2 = 5

⇒ (6 + 1 + 2 + 3 + 3 + 1)/2 = 8
⇒ (7 + 2 + 4 + 3)/2 = 8

⇒ (9 + 3)/2 = 6 = ?

Direction : (Q. No. 81 to 83) Seven villages A, B, C, D,

E, F and G are situated as follows:

E is 2 km to the west of B. F is 2 km to the north of A.

D is 2 km to the south of G. C is 1 km to the west of

A. G is 2 km to the east of C. D is exactly in the middle

of B and E.

81. How far is E from F (in km)?

(1) 5 km (2) 6 km

(3) 4 km (4) 4.5 km

Answer (3)

Sol. N

EW

S
AC G

DE B

F

1 km

1 km

1 km1 km

2 km

2 km

82. Which two village are the farthest from one another?

(1) D and C (2) F and E

(3) F and B (4) G and E

Answer (3)

83. A is in the middle of two villages:

(1) C and F (2) B and D

(3) C and G (4) C and B

Answer (3)
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84. On what dates of April, 2001 did Wednesday fall?

(1)

1    
st

8
th

15    
th

22
nd

29
th

(2)

3    
rd

10
th

17    
th

24
th

(3)

2    
nd

9
th

16    
th

23
rd

30
th

(4)

4    
th

11
th

18    
th

25
th

Answer (4)

Sol. Number of odd days

2000 Jan 2001 Feb 2001 March

0 3 0 03
  

= 6, so 1 April is Sunday.

nd rd th th th th

1 2 3 4 11 18 25
, , , , , ,

Sun Mon Tues Wed Wed Wed Wed

85. Select a suitable figure from the four alternatives that

would complete the figure matrix -

1

2

1

2

1

2

2 2 2

2 2

1 2

?

(1) (2) (3) (4)

1

2

1

2

1

2

1

2

Answer (3)

86. Ten years ago, the age of mother was three times

the age of her son. After ten years, mother's age will

be twice that of his son. Find the ratio of their

present ages

(1) 11 : 7 (2) 9 : 5

(3) 7 : 4 (4) 7 : 3

Answer (4)

Sol. Let age of mother = y

age of son = x

y x – 10 = 3(  – 10)

y x + 10 = 2(  + 10)

–20 = x – 50

—

ATQ

x = 30, y = 70

70 7
Ratio

30 3

y

x
  

Direction : (Q. No. 87 & 88) Choose the correct

alternative that will continue the same pattern and replace

the question mark in the given series:

87. 0, 2, 3, 5, 8, 10, 15, 17, 24, 26, ?

(1) 28 (2) 30

(3) 32 (4) 35

Answer (4)

Sol. 0 2 3 5 8 10 15 17 24 26 35

+2 +2 +2 +2 +2

+1 +3 +5 +9+7

88. 2, 2, 5, 13, 28, ?

(1) 49 (2) 50

(3) 51 (4) 52

Answer (4)

Sol. 2 + (12 – 1) = 2

2 + (22 – 1) = 5

5 + (32 – 1) = 13

13 + (42 – 1) = 28

28 + (52 – 1) = 52

89. In an examination, a student scores 4 marks for

every correct answer and loses 1 mark for every

wrong answer. IF he attempts all 75 question and

secures 125 marks, the number of question he

attempted correctly, is

(1) 35 (2) 40

(3) 42 (4) 46

Answer (2)

Sol. Let x attempted correct and y questions done wrong

x + y = 75

4x – y = 125

5x       = 200

x = 40, y = 35

90. Below you are served with four different type of venn

diagrams that indicate a definite relationship between

Tennis, Rugby and Soccer. You need to find out the

diagram which is the most relevant -

(1) (2)

(3) (4)

Answer (2)



16

91. Seema started early in the morning on the road

towards the Sun. After some time she turned to her

left. Again after some time she turned to her right.

After moving some distance she again turned to her

right and began to move. At this time, in what

direction was she moving?

(1) South (2) North-West

(3) North-East (4) East

Answer (1)

Sol.

92. How many numbers from 1 to 50 are there each of

which is not only exactly divisible by 4 but also

contain 4 as a digit in it?

(1) 5 (2) 4

(3) 7 (4) 8

Answer (1)

Sol. The numbers are 4, 24, 40, 44, 48

There are 5 numbers.

93. The given figure (x) has dots that fulfil same conditions.

Find out a figure from the alternatives where if dots are

placed they will fulfil the same conditions

Answer (1)

Sol.

94. Arrange the words given below in a meaningful

sequence.

1. Probation 2. Interview

3. Selection 4. Appointment

5. Advertisement 6. Application

(1) 5, 6, 3, 2, 4, 1 (2) 5, 6, 4, 2, 3, 1

(3) 5, 6, 2, 3, 4, 1 (4) 6, 5, 4, 2, 3, 1

Answer (3)

Sol. Advertisement

Application

Interview

Selection

Appointment

Probation

95. A word given in capital letters is followed by four

answer words. Out of these only one cannot be

formed by using the given words. Find out this

word?

NECESSARY

(1) NICE (2) ESSAY

(3) EASY (4) RACE

Answer (1)

Sol. Nice

(NICE is the work which cannot be formed for

NECESSARY due to absence of I.

96. The percentage of participants who did not choose

any subject is :

(1) 23.59

(2) 30.25

(3) 37.46

(4) 27.27

Answer (4)
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Sol.

40

24
16

12856
216

160

Science

Mathematics
Sports

Total 880

Participants who did not chose anything.

880 – (216 + 56 + 24 + 16 + 40 + 160 + 128)

880 – 640 = 240

Percentage who did not choose anything

=
240

100
880

×

 27.27

97. Of those participating, the percentage who choose

only one subject is :

(1) 60

(2) More than 60

(3) Less than 60

(4) More than 75

Answer (4)

Sol. More than 75

Any choose one subject = 215 + 128 + 160 = 504

% = %75.78100X
640

504 

98. If 
' '  stands for 'addition', 

' '  stands for

'subtraction', 
' '  stands for 'division', 

' '  stands for

'multiplication' 
' '  stands for 'equal to', 

' ' stands for

' greater than' and = stands for 'less than', state

which of the following is true?

(1) 3 2 4 16 2 4     (2) 5 2 2 10 4 8    

(3) 3 4 2 9 3 3     (4) 5 3 7 8 4 1    

Answer (2)

Sol. 5 > 2 + 2 = 10 < 4 × 8

5 × 2  < 10 – 4 + 8

5 × 1 < 14

5 < 14   This is true.

99. Count the number of cubes in following figure -

(1) 68 (2) 69

(3) 70 (4) 71

Answer (2)

Sol. Counting the cubes manually by counting 69.

100. Select a figure from the given four alternatives, which

placed in the (?)

(x)

(1)

(2)

(3)

(4)

Answer (3)

Sol.
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1. 25 g of water contain -

(1) 12 × 1023 atom of Hydrogen and 6 × 1023 atom

of oxygen

(2) 5 × 1024 atoms of Hydrogen and 2.5 × 1024

atoms of oxygen

(3) 2.72 × 1023 atoms of Hydrogen and 8.372 ×

1023 atoms of oxygen

(4) 16.722 × 1023 atoms of Hydrogen and 8.362 ×

1023 atoms of oxygen

Answer (4)

Sol. Number of moles in 25 g of H
2
O 

25

18


= 1.388  moles.

Number of H-atoms = Number of moles of H
2
O ×

Avogadro's number × 2

= 1.388 × 2 × 6.023 × 1023

= 16.722 × 1023 atoms of Hydrogen

Number of oxygen – atom = number of moles of H
2
O

× Avogadro's number

= 1.388 × 6.023 × 1023

= 8.362 × 1023 atoms of oxygen

2. Which of the following contain five molecule of water

of crystallization?

(1) Blue Vitriol (2) White Vitriol

(3) Epsom Salt (4) Green Vitriol

Answer (1)

Sol. Blue vitriol – CuSO
4
5H

2
O

3. Digestive fluids in stomach has approximate pH of -

(1) 0 (2) 2

(3) 4 (4) 6

Answer (2)

Sol. Digestive fluids in stomach has approximate

pH = 2.

4. When water gas mixed with half its volume of

hydrogen and the mixture is compressed to 300 atm

pressure and passed over ZnO-Cr
2
O

3 
catalyst a

colourless liquid is obtained which is used as solvent

for paints & Varnishes. The liquid will be -

(1) Methanol (2) Ethanol

(3) Ether (4) Acetone

Answer (1)

PAPER-II : SCHOLASTIC APTITUDE TEST (SAT)

Sol. CO + 2H  
2

300 atm

ZnO – Cr O
2 3

CH OH 
3

(Methanol)

5. Which of the following arrangement represent

increasing oxidation number of central atom

(Mn, Cr, Cl)?

(1)
2

4 4 3 2
MnO ,CrO ,ClO ,CrO

   

(2)
2

3 4 4 2
ClO ,CrO ,MnO ,CrO

   

(3)
2

2 3 4 4
CrO ,ClO ,CrO ,MnO

   

(4)
2

4 4 2 3
CrO ,MnO ,CrO ,ClO

   

Answer (3)

Sol. Oxidation number

MnO
4

– : x + 4(–2) = –1

 x = +7

CrO
4

2– : x + 4(–2) = –2

 x = +6

ClO
3

– :  x + 3(–2) = –1

 x = +5

CrO
2

– : x + 2(–2) = –1

x = +3

Increasing oxidation number:

CrO
2

– < ClO
3

– < CrO
4

2–< MnO
4

–

6. Which of the following is an oxide ore?

(1) Calcite (2) Zincite

(3) Magnesite (4) Calamine

Answer (2)

Sol. Oxide ore: Zincite – ZnO

 Calcite : CaCO
3

 Calamine : ZnCO
3

 Magnesite : MgCO
3

7. Which of the following statements are incorrect

regarding Mandleev's periodic table?

(a) Mandleev considered compounds formed by

element with oxygen and hydrogen.

(b) In the table Ni is placed before Co.

(c) Eka-silicon in Mandleev's periodic table is gallium.

(d) The properties of elements are the periodic

function of their atomic masses.

(1) Only (b) (2) Only (c)

(3) Both (b) & (c) (4) Both (a) & (d)

Answer (3)
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Sol. Incorrect statement regarding mendleev's periodic

table.

 In Mandleev's periodic table Co is placed

before Ni.

 Eka – silicon in Mandleev's periodic table is

Germanium not Gallium

8. Consider the two statements below one labelled as

Assertion (A) and other as Reason (R). Examine

these two statements carefully and decide if

Assertion (A) and Reason (R) individually true and if

so (R) is a correct explanation of (A). Select your

answer using the code below :

Assertion (A) : Magnesium imparts characteristic

colour to the flame.

Reason (R) : Due to small size and high effective

nuclear charge ionization enthalpy of magnesium is

high.

(1) Both A & R are true and R is a correct

explanation of A.

(2) Both A & R are true but R is not correct

explanation of A.

(3) A is true R is false.

(4) A is false R is true.

Answer (4)

Sol. Magnesium imparts no characteristic colour to the

flame due to high ionization enthalpy. So, assertion

is false and reason is true.

9. Incorrect statement in regard to halogens is -

HI > HBr > HCl > HF

(1) Chlorine has the highest electron affinity in the

group.

(2) Ionization energies of halogen are very low.

(3) Except fluorine they show an oxidation sate of

–1 or +1.

(4) Acidic strength of hydrogen halides decrease in

the order.

Answer (2)

Sol. Ionisation energies of halogens is high due to small

size and high effective nuclear charge

10. Reaction with sodium hydrogen carbonate can be

used to distinguish between -

(1) Ethanoic acid & Methanoic acid

(2) Ethanol and Methanol

(3) Ethanol and Ethanoic acid

(4) Ethylacetate and Ethanol

Answer (3)

Sol. Reaction of sodium hydrogen carbonate is used to

distinguish Ethanol and Ethanoic acid, Ethanoic acid

gives brisk effervescence with NaHCO
3
 while Ethanol

does not produce.

CH COOH + NaHCO   CH COONa + CO  + H O
3 3 3 2 2

 

11. Rekha dropped a metal piece A in the solution of

another metal B. After some time a new colourless

compound C is formed. A, B, C respectively can be-

(1) Cu, ZnSO
4
, CuSO

4
(2) Mg, NaCl, MgCl

2

(3) Mg, CuSO
4
, MgSO

4
(4) Fe, ZnSO

4
, FeSO

4

Answer (3)

Sol. Mg + CuSO   MgSO  + Cu
4 4


(Colourless)

12. IUPAC Name of following compound will be :

C

CH —CH
3 2

—C—CH CH CH
2 2 3
— —

HH

(1) 3-Methylene hexane (2) 2-Propyle-1-butene

(3) 4-Ethyl-4-pentene (4) 2-Ethyl-1-pentene

Answer (4)

Sol.
CCH

2
CH
3

CH
2
CH

2
CH

3

3 4 52

C

HH 1

2-Ethyl-1-pentene.

13. In balanced chemical equation

a Cu + b HNO
3 

(dil) 

c Cu(NO
3
)
2 

+ d H
2
O + e NO

Which of the following alternative are correct?

(1) a = 1 b = 4 c = 1 d = 2 e = 2

(2) a = 3 b = 4 c = 3 d = 1 e = 1

(3) a = 1 b = 4 c = 1 d = 4 e = 2

(4) a = 3 b = 8 c = 3 d = 4 e = 2

Answer (4)

Sol. a Cu + b HNO (dil)  c Cu(NO )  + d H O + e NO
3 3 2 2


a = 3  b = 8, c = 3, d = 4, e = 2

14. Which of the following does not relate to the Non

cooperation movement (1919) in India?

(1) Renouncement of titles.

(2) To quit govt. schools and colleges by the students.

(3) Disobeying govt. laws.

(4) Boycott of judicial courts by advocates.

Answer (3)
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15. What does the novel 'Sevasadan' by Munshi

Premchand mainly relate to?

(1) Attrocities under colonial rule.

(2) Social problems like child marriage and dowry.

(3) Life of an orphan.

(4) Misries of a poor peasant.

Answer (2)

16. Which the following statements are correct regarding

liberal Nationalism in 19th century Europe?

(1) Right of Liberty and Equality.

(2) Formation of people's govt.

(3) Ownership of private property.

(4) Complete control of govt. on al public and private

property.

(1) I, II, III (2) IV, III, I

(3) III, IV, II (4) I, II, IV

Answer (1)

17. Which of the following statements are correct on

Gandhiji's breaking the salt law to start civil

disobedience movements?

(I) Salt was the need of rich and poor all.

(ii) British govt. levied tax on the salt.

(iii) Only govt. agencies were allowed to make salt.

(iv) Lord Irwin abolished tax on salt.

(1) I, II, III (2) II, III, IV

(3) III, IV, I (4) I, III, IV

Answer (1)

18. Which of the following statements are correct in

relation to the great depression of 1929 in India? It

led to

(1) Decline in trade

(2) Steep hike in wheat prices.

(3) Growth in industrial investment.

(4) Fall in jute prices.

(1) II, III, IV (2) I, II, III

(3) I, III, IV (4) I, II, IV

Answer (4)

Direction : (Q. No. 19 to 22)

Read the statements and select the correct answer

from the options given below.

(1) Statement I is true.

Statement II is false.

(2) Statement I is false.

Statement II is true.

(3) Both statements are true and statement II

provides explanation to statement I.

(4) Both statements are true but statement II does

not provide explanation of statement I.

19. Statement I : Long years of war and the cost of

extravagant court of the king drained the financial

resources of France.

Statement II : Only the members of the third estate

had to pay taxes to the state.

Answer (4)

20. Statement I : Russia's army lost badly in Germany

and Austria in 1914-1916. All able bodied men were

called to the war which led to scarcity of bread.

Statement II : Tsarist autocracy collapsed in 1917.

Answer (4)

21. Statement I : Railways were essential for colonial

trade and for the movement of imperial troops.

Statement II : The forests around the railway tracks

fast started disappearing.

Answer (3)

22. Statement I : Simon commission was opposed by

all the political parties in India.

Statement II : Lord Irwin announced inclusion of

80% Indian members into the Simon Commission.

Answer (1)

23. Arrange the following historical developments in a

chronological sequence.

(I) Unification of Germany.

(II) Unification of Italy.

(III) The French Revolution.

(IV) Treaty of Vienna

(1) I, II, III, IV (2) III, IV, II, I

(3) II, IV, III, I (4) IV, I, III, II

Answer (2)

24. Arrange the following historical developments in a

chronological sequence

(I) Poona Act.

(II) Lahore congress : demand of 'Purna Swaraj'.

(III) Establishment of oppressed class Association

by Sh. B. R. Ambedkar.

(IV) Second round table conference.

(1) I, II, III, IV (2) III, IV, II, I

(3) II, III, IV, I (4) IV, II, III, I

Answer (3)
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25. What does Mahatma Gandhiji's popular image in

short dhoti and a spinning wheel depicts?

(1) Self relience and resistance to use of British mill

made cloth.

(2) Easy and convenient way of living.

(3) Living like a poor farmer in India.

(4) Depiction of an indigenous image.

Answer (1)

26. Certain minerals may occur as alluvial deposits in

sands of valley floors and the base of hills. By which

name these are known?

(1) Placer deposits (2) Manganese nodules

(3) Bromine (4) Malleable

Answer (1)

27. Other than current fallow land is known as

(1) Left without cultivation for one or less than one

agricultural year.

(2) Left uncultivated for the past 1 to 5 agricultural

year.

(3) Area sore than once in an agricultural year.

(4) None of the above.

Answer (2)

28. Which one of the following are not used into rain fed

storage structures that allowed the water to stand?

(1) Khadins (2) Johads

(3) Pit (4) Palar Pani

Answer (4)

29. These are species whose population has declined

are know as:

(1) Vulnerable species (2) Endangered species

(3) Extinct species (4) None of the above

Answer (2)

30. To which one of the following types of vegetation

does rubber belongs to ?

(1) Tundra (2) Himalayan

(3) Mangrove Forest

(4) Tropical Evergreen Forests

Answer (4)

31. In which of the following state is the Manas Bio-

reserve located?

(1) Punjab (2) Assam

(3) Kerala (4) Orisa

Answer (2)

32. The movement of the plates results in the building up

of stresses within the plates and the continental

rocks leading to

(1) Erosion (2) Weathering

(3) Folding (4) All above

Answer (3)

33. Which name is given to the periodic development of

a warm ocean current along the coast of Peru as a

temporary replacement of the cold Peruvian current?

(1) Kaal Baisakhi (2) EI Nino

(3) Monsoon (4) None of the above

Answer (2)

34. Which one of the following statement is not true ?

(1) Coal that has been burried deep and subjected

to increases temperatures is bituminous coal.

(2) Large reserves of natural gas have been

discovered in the krishana Godavri basin.

(3) The monazite sands of Tamil Nadu is also rich

in Thorium.

(4) Photovoltaic technology converts sunlight directly

into electricity.

Answer (3)

35. In India this primitive form of cultivation is called by

different names. Select the correct answer using the

code given below -

(1) Madhya Pradesh (i) Pama Dabi or Koman

(2) Odisa (ii) Bewar of Dahiya

(3) In Western Ghats (iii) Jhumming

(4) North-East region (iv) Kumari

(1) 1–ii, 2–i, 3–iv, 4–iii (2) 1–i, 2–ii, 3–iii, 4–iv

(3) 1–ii, 2–iii, 3–iv, 4–i (4) 1–iii, 2–ii, 3–i, 4–iv

Answer (1)

36. The following waterways have been declared as the

National waterways by the Govt. Select the correct

answer using the code given below -

(1) Allahabad and (i) National

Haldia Waterways No. 3

(2) Kottapuram-Kollam (ii) N.W. No.-4

(3) Kakinada- (iii) N.W. No.-2

Puducherry stretch

of canals

(4) Sadiya and Dhubri (iv) N.W. No. 1

waterways

(1) 1–iv, 2–i, 3–ii, 4–iii (2) 1–i, 2–ii, 3–iii, 4–iv

(3) 1–ii, 2–iii, 3–iv, 4–i (4) 1–iii, 2–iv, 3–ii, 4–i

Answer (1)
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37. Match the following :

The major iron-ore States

belts in India

(1) Odisa-Jharkhand (i) Karnataka

Belt

(2) Durg-Bastar- (ii) Goa and

Chanderpur Belt Maharashtra

(3) Ballari (iii) Chattisgarh

Chitradurga

Chikkamangluru

Tumakuru Belt

(4) Maharashtra-Goa (iv) Odisa

Belt

(1) 1–iv, 2–iii, 3–ii, 4–i (2) 1–i, 2–ii, 3–iii, 4–iv

(3) 1–ii, 2–iv, 3–iii, 4–i (4) 1–iv, 2–iii, 3–i, 4–ii

Answer (4)

38. Chose in correct statement from the following

(1) Election of Indian president is direct

(2) Election of the prime-minister is direct

(3) Ministers are appointed by the President on the

advice of Prime-Minister.

(4) President presides over to cabinet meeting.

Answer (3)

39. Which of the following is not a permanent member

of security council?

(1) Britain (2) U.S.A.

(3) China (4) Germany

Answer (4)

40. Indian Parliament's consists of -

(1) President, Vice President and Rajya Sabha

(2) President, Lok Sabha and Rajya Sabha

(3) President and Rajya Sabha

(4) President, Vice President and Lok Sabha

Answer (2)

41. Choose the odd pair of personalities from the

following -

(1) Mrs. Indira Gandhi and Narendra Modi

(2) Balram Jakhar and Shivraj Patil

(3) Narendra Modi and Sumitra Mahajan

(4) Dr. Rajendra Prasad and Dr. V.V. Giri

Answer (3)

42. Which of the following statement is not correct

(1) Telengana is created from Orissa

(2) Uttrakhand is created from U.P.

(3) Jharkhand is created from Bihar

(4) Chhattisgarh is created from M.P.

Answer (2)

43. Who presides the Joint session of Parliament?

(1) President

(2) Vice President

(3) Speaker of Lok Sabha

(4) Prime Minister

Answer (3)

44. Which of the following is not a Political Party?

(1) INC

(2) BJP

(3) AAP

(4) RSS

Answer (4)

45. Which of the following is not a correct match?

(1) U Thant - Burma

(2) Kofi Annan - Ghana

(3) Boutros Boutros Ghali - Iran

(4) Kurt Waldheim - Austria

Answer (3)

46. An industrialist Mr. Bajaj has made an investment of

Rs. 10 lacs on education, Rs. 10 lacs on training

and Rs. 5 lacs on medical care of the employees of

his company. His efforts are towards strengthening to

(1) Working capital

(2) Human capital

(3) Fixed capital

(4) Capital growth

Answer (2)

47. If a farmer's cost of production to produce one quintal

of wheat is Rs. 1800, then Govt. of India has

adopted a principle to have at least MSP as below-

(1) Rs. 2700

(2) Rs. 1800

(3) Rs. 3600

(4) Rs. 2000

Answer (1)
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48. Assume, there are three families lives in a village. In

family of Mr. Ramlal Elder son Mr. Anil work on their

fields and younger son Mr. Sunil is lawyer in district

court. In family of Mr. Shayamlal only and son Mr.

Dinesh work in a nearby factory of making spare

parts of motorcycle as an engineer. In family of Mr.

Mohanlal-has two daughters-Elder Monika is a

insurance agent and younger Seema runs her

internet cafe. Thus, what is the ratio of economic

sectors in which people of this village are engaged

(1) Primary-20%, Secondary-60%, Tertiary-20%

(2) Primary-60%, Secondary-20%, Tertiary-20%

(3) Primary-20%, Secondary-20%, Tertiary-60%

(4) Primary-20%, Secondary-20%, Tertiary-40%

Answer (3)

49. XYZ Bank has Rs. 10000 crores public deposits and

interested to utilize 7500 crores of its funds. In your

opinon, which of the following activity do you find

more better option for bank

(1) by renovating all existing branches

(2) by deposit it to central bank

(3) by opening many new branches

(4) by extending loans

Answer (2)

50. Following are some activities

(A) Giving seeds and fertilizers subsidy to the farmers

(B) Cultivating wheat

(C) Making atta from wheat

(D) Providing storage facility for the wheat

Out of the above, which activity/activities relates to

primary sector-

(1) A, B, D (2) A, B

(3) B (4) B, D

Answer (2)

51. Income alone is not a completely adequate indicator

of development of a country. Which one of the

following statement is incorrect in this regard?

(1) Money cannot ensure a pollution free

environment for individual

(2) Some people earn more than others do

(3) Money does ensure respect and dignity for the

individuals.

(4) Money helps us buy material goods and

services only.

Answer (3)

52. Match Column I with the statement of Column II

Column I Column II 

A. Right to 

inform 

i.     When I buy an electric 

iron and suffered 

electric shock while 

using it. 

B. Right to 

Choose 

ii .   When I parceled a 

packet from post office 

but not delivered yet. 

C. Right to 

Safety 

iii.  When I buy a shirt from 

company outlet, 

instructions for washing 

it was tagged on it. 

D. Right to 

seek 

redressal 

iv.  When I have taken a gas 

connection, dealer 

insisted me to buy 

stove from them with 

the connection but I 

denied  

(1) A – i, B – ii, C – iii, D – iv

(2) A – ii, B – iv, C – i, D – iii

(3) A – iv, B – iii, C – ii, D – i

(4) A – iii, B – iv, C – i, D – ii

Answer (4)

53. There are a variety of ways in which the MNCs are

spreading their production and interacting with local

producers in various countries across the world.

Which one is not feasible ?

(1) By setting up partnership with local companies

(2) By using the local companies for supplies

(3) By imposing restriction on trade of local

companies

(4) By closely competing with local companies or

buying them.

Answer (3)

54. In ABC, ABC = 90° and BAC = 60°. If bisector

fBAC meets BC at D, Then BD : DC is -

(1) 1 : 2

(2) 1 : 3

(3) 1 : 2

(4) 1 : 1

Answer (1)
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Sol.

90°30°

60°

C D

A

B

1
sin30

2

AB

AC
  

By angle bisector theorem,

CD AC

BD AB



1

2

BD AB

CD AC
 

55.  a and b are roots of the quadratic equation

x2 + 5x + d = 0 and a and c are roots of the

quadratic equation x2 + 6x + 2d = 0. If there is only

one common root of the above two equations, then

the possible value of d is -

(1) 2 (2) 2

(3) 4 (4) 4

Answer (3)

Sol. If one root is common then

(c
1
a

2
 – a

1
c

2
)2 = (a

1
b

2
 – b

1
a

2
) (b

1
c

2
 – c

1
b

2
)

a
1
 = 1, a

2
 = 1, b

1
 = 5, b

2
 = 6, c

1
 = d, c

2
 = 2d

 (d – 2d)2 = (6 – 5) (10d – 6d)

d2  = 4d

 d  = 4

56. Sum of the lengths of all edges of a cube is x

metres. If the surface area of the cube is x

sq.metres, then its volume (in cubic metres) is -

(1) x3 (2) 8

(3) x (4) 2

Answer (2)

Sol. Let length of each edge = a

Given 12a = x  a = 
12

x

surface area = 6a2 = 6 

2

144

x⎛ ⎞
⎜ ⎟⎝ ⎠

A.T.Q,

 6 

2

144

x⎛ ⎞
⎜ ⎟⎝ ⎠

= x   24x 

Then edge = 2
12

x
a  

Volume = (a)3 = (2)3 = 8

57. ABC is a right angled triangle, right angled at B.

If side AB is divided into three equal parts by points

D and E such that D is nearer to A, than

2 2

2 2

AC EC

DC BC




 is equal to

(1) 3 (2)
1

2
2

(3)
1

2
4

(4) 2

Answer (4)

Sol.

C X

A

B

D

E

y

y

y

Let BC = x

BE = ED = AD = y

AC2 = x2 + 9y2

DC2 = x2 + 4y2

EC2 = x2 + y2

BC2 = x2

2

2

22

22

y4

y8

BCDC

ECAC 



 = 2

58. There are 15APs whose common differences are 1,

2, 3, ......., 15 respectively, the first term of each

being 1. Then sum of their 15th terms is

(1) 1695 (2) 1792

(3) 1800 (4) 1924

Answer (1)

Sol. We know general term of A.P.

t
n
 = a + (n – 1)d  t

15
 = a + 14d

 We need to find

Sum =  [1 + 14(1)] + [1 + 14(2)] + [1 + 14(3)]+...

+[1 + 14(15)]

Sum = 15 + 14 (1 + 2 + 3 +... 15)

= 15 + 14  ×
15(15 1) 15 16

15 14 1695
2 2

    
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59. ABC is a triangle in which AB = 10cm, AC = 24cm

and BC = 26cm. If AD is its median, then length of

AD is -

(1) 12 cm (2) 12.5 cm

(3) 13 cm (4) 14.75 cm

Answer (3)

Sol. Length of median is given by

2 2 21
2 2 –

2
b c a 

2 2 21
2(24) 2(10) – (26) 13cm

2
  

60. The decimal expansion of the number 
14588

8750
 will

(1) terminate after two decimal places

(2) terminate after three decimal places

(3) terminate after four decimal place

(4) not terminate

Answer (3)

Sol.
14588

1.6672
8750



61. All the zeroes of the polynomial x3 + 2x2 + a are

also zeroes of the polynomial x5  x4 4x3 + 3x2 +

3x + b. Then, the values of a and b are respectively-

(1) 1 and 2 (2) 1 and 2

(3) 1 and 2 (4) 1 and 2

Answer (2)

Sol. 3 2
2x x a 

2

5 4 3 2

5 4 3 2

4 3 2

4 3 2

3 2

3 2

2

– 3 2

– – 4 3 3

2 0

–3 – 4 (3 – ) 3

–3 – 6 0 – 3

2 (3 – ) (3 3 )

2 4 0 2

(–1– ) (3 3 ) ( – 2 )

x x

x x x x x b

x x x ax

x x a x x b

x x x ax

x a x a x b

x x x a

a x a x b a



  
  

  


   
  
  

Remainder = 0


–1a   also b = 2a  b = – 2

62. Present age of a father is six times his son's age.

After four years, the age of the father will be four

times his son's age. The present ages (in years of

the father and son are respectively -

(1) 24 and 4 (2) 30 and 5

(3) 36 and 6 (4) 28 and 7

Answer (3)

Sol. Let present age of son be = x

Present age of father = 6x

After 4 yrs,

Son's age = x + 4

Father's age = 6x + 4

A.T.Q,

6x + 4 = 4 (x + 4)

 6x + 4 = 4x + 16

 2x = 12   x = 6

 Son's age = 6 yrs

Father's age = 36 yrs

63. The largest number which divides 72 and 127 leaving

remainders 7 and 10 respectively is -

(1) 845 (2) 458

(3) 65 (4) 13

Answer (4)

Sol. Now   72   7 = 65

127  10 = 117

HCF of 65 and 117 will be 13

 largest number is 13.

64. The line segment joining the points A(2, –2) and

B(–7, 4) is trisected at the points P and Q (P is

nearer to A).  If coordinates of P and Q are (a, 0)

and (–4, b) respectively, then the values of a and b

are respectively-

(1) 1 and 2 (2) –1 and 2

(3) 1 and –2 (4) –1 and –2

Answer (2)

Sol.

1 1 1

A
(2, –2)

P
(a, 0)

Q
(–4, b)

B
(–7, 4)

: :

    m : n

AP : PB = 1 : 2

–7 4 3
( ) –1

3 3
P x a

    

PQ : QB = 1 : 1

0 4
( ) 2

2
Q y b

  

65.
cos – sin 1

cos sin –1

θ θ +

θ + θ
 is equal to

(1) sec  + tan  (2) sec  – tan 

(3) cosec  – cot  (4) cosec  + cot 

Answer (4)
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Sol.
cos sin 1

cos sin 1

θ − θ +

θ + θ −

cos sin 1

sin sin sin

cos sin 1

sin sin sin

θ
− +

θ θ θ

θ θ
+ −

θ θ θ

cot 1 cos

cot 1 cos

es

ec

θ − + θ

θ + − θ

2 2cot θ + cosec θ – (cosec – cot )

cot θ + 1 – cosec θ

θ θ

(cot  + cosec ) – (cot + cosec )(–cot + cosec )

cot + 1 – cosec 

θ θ θ θ θ θ

θ θ

(cot θ + cosec θ) (1 + cot θ – cosec θ)

cot θ + 1 – cosec θ

cosec  + cot 

66. From the top of a 60 m high tower, the angles of

depression of the top and bottom of pillar are 30°

and 60° respectively. Then the height of the pillar is

(1) 20 m (2) 20 3 m

(3) 40 m (4) 40 3 m

Answer (3)

Sol. In ABC, than 60°= 
AB

BC

60
3

BC


30°

60°

60 m
D

C B

A

E

60

3
BC m

60

3
DE BC m 

In AED

tan 30
AE

DE
 

1 3

603

AE

60 = 3AE

AE = 20 m

DC = AB – AE = (60 – 20) m

= 40 m

 Height of pillar is 40 m.

67. The diagonals of a quadrilateral ABCD are perpendicular

to each other. Then the quadrilateral formed by joining

the mid-points of its sides (in order) is a

(1) kite (2) rectangle

(3) rhombus (4) square

Answer (2)

Sol.

O

A D

CB

P

R

S Q

M

N X

Let AC = d
1

BD = d
2

PQ =
1

2

d
(By mid-point theorem)

SR =
1

2

d
(By mid-point theorem)

SP =
2

2

d
(By mid-point theorem)

PQ =
2

2

d
(By mid-point theorem)

So, PQRS is a parallelogram.

RS || PQ, So RS || AC

and NR || OX

NOX = 90°

(NOX + ONR = 180° (NR || OX),

90º + ONR = 180°,

ONR = 90°)

Similarly:

ON || RX

ONR + NRX = 180°

90° + NRX = 180°

NRX = 90°

Similarly, all angles of the quadrilateral PQRS is 90°,

therefore, PQRS is a rectangle.

68. In figure, PQ is a chord of a circle with centre O and

PT is its tangent at P. If QPT = 60º, then PRQ is

O

Q

R

P T

(1) 105° (2) 115°

(3) 120° (4) 135°

Answer (3)
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Sol.

Z Q

R

P

60°

60°

T

QPT = 60º

PZQ = 60º (Alternate segment theorem)

So, PZQ + QRP = 180º

(Cyclic quadilateral PZQR)

60º + QRP = 180°

QRP = 120°

69. A momento is made as shown in the figure. Its base

PBCQ is silver plated from the front side

90º

3
 c

m

3
 c

m

7
 c

m

7
 c

m

A

B C

P Q

The silver plated area is 
22

use  = 
7

⎛ ⎞
⎜ ⎟
⎝ ⎠

(1) 11 cm2 (2) 11.5 cm2

(3) 12.5 cm2 (4) 18 cm2

Answer (2)

Sol. Area of APQ =
1

10 10
2
 

= 50 cm2

Area of APQ sector =
90 22

7 7
360 7

  

=
77

2
 = 38.5 cm2

Area of shaded portion = 50 – 38.5 = 11.5 cm2.

70. A bucket is in the form of a frustum of a cone and

it can holds 28.49 litres of water. The radii of the top

and bottom of the bucket are 28 cm and 21 cm

respectively. Then slant height of the bucket is

22
use  = 

7
⎛ ⎞

⎜ ⎟
⎝ ⎠

(1) 15 cm (2) 246 cm

(3) 253 cm (4) 274 cm

Answer (4)

Sol. Volume of frustum =

    2 21 22
28490 21 28 21 28

3 7
h     

 22
28490 21 3 28 4 3 28

3
h      

h = 15 cm

l = 
2 2

1 2
( )h r r 

 = 2 2
15 (28 21) 

 = 274  cm

71. Two dice are thrown at the same time. The

probability that, the sum of two numbers appearing

on the top of the dice is greater than 6 but less than

9, is

(1)
11

36
(2)

1

3

(3)
5

6
(4)

4

9

Answer (1)

Sol. Total favourable outcomes = (6, 1), (6, 2), (5, 2),

(5, 3), (4, 3), (4, 4), (3, 4), (3, 5), (2, 5), (2, 6), (1, 6)

P (greater than 6, but less than 9) = 
11

36

72. A person can row a boat at 10 km/h in still water.

He takes two and half hours to row from A to B and

back. If the distance between A and B is 12 km,

then the speed of the stream is

(1) 3 km/h (2)
1

2  km/h
2

(3) 2 km/h (4)
1

1  km/h
2

Answer (3)

Sol. Let speed of stream be x km/hr

Total Distance = 12km

Time = 
1

2
2

hrs. = 
5

2
hrs.

Speed of boat = 10 km/hr.

12 12 5

10 10 2x x

+ =

+ −

1 12 5
12

10 10 2x x

⎛ ⎞+ =⎜ ⎟⎝ ⎠+ −

2

10 10 5
12

2100

x x

x

− + +⎛ ⎞ =⎜ ⎟⎝ ⎠−

( )212 20 2 5 100 x× × = −
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2
480 500 5x= −

2
5 20x =

2
4x =

2x = ±

Since speed can't be negative,

 Speed of stream = 2 km/hr.

73. In the figure, points P, Q, R and S lie on a circle.

Then the values of x and y are respectively.

y +20ºº

2xº

50º

yº
P

S

R

Q

(1) 40° and 100° (2) 35° and 110°

(3) 50° and 80° (4) 30° and 120°

Answer (2)

Sol.

2x y°

y+20º

50°

P

Q

R

S

PQRS is a cycle quardilateral

2x + y = 180º ...(i)

y + 20 + 50 = 180° ...(ii)

y = 180° – 70°

y = 110° ...(iii)

Putting (iii) in (i)

2x + 110° = 180°

2x = 70°

x = 35°

74. Difference between systolic and diastolic blood

pressure is known as -

(1) Blood pressure (2) Cardiac output

(3) Pulse pressure (4) Heart beat

Answer (3)

Sol. Pulse pressure is defined as difference between

systolic pressure and diastolic pressure.

If blood pressure is 120/80 mm Hg then pulse

pressure is 120 – 80 = 40 mm Hg.

75. About what percentage of living species are in danger

of extinction ?

(1) 20% (2) 10%

(3) 30% (4) 1%

Answer (3)

Sol.* 30% of living species are in danger of extinction

76. Entry of water into root hairs is an example of -

(1) Diffusion (2) Imbibition

(3) Osmosis (4) Plasmolysis

Answer (3)

Sol. Osmosis is a special case of diffusion. Osmosis is

defined as movement of solvent molecules from

higher concentration to lower concentration through

semi permeable membrane.

In soil, there is high concentration of water

molecules so it enters into root hairs by osmosis.

77. Tendons & ligaments are types of tissue -

(1) Muscular tissue (2) Epithelial tissue

(3) Nervous tissue (4) Fibrous tissue

Answer (4)

Sol. Tendons and ligaments are the dense regular

connective tissue which contains more fibres and

less matrix.

78. The organ which spider use to prepare web is -

(1) Spinnerates (2) Spicules

(3) Spiracles (4) Carapace

Answer (1)

Sol. Spinnerate is a silk spinning organ of spider or larva

of an insect. Spinnerate are on the underside of a

spider's abdomen.

79. Variations are important as they produce -

(1) Adaptations (2) Elimination

(3) Evolution (4) Selection

Answer (1)

Sol. Variations produce adaptation for survival which

ultimately result in evolution.

80. Mode of nutrition in cuscuta is -

(1) Saprophytic (2) Autotrophic

(3) Parasitic (4) Insectivorous

Answer (3)

Sol. Cuscuta is also known as dodder plant or Amarbel

which is parasitic in nutrition and enters inside xylem

and phloem of host plant to acquire nutrition.
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81. Structural and functional unit of kidney is -

(1) Nephron (2) Ureter

(3) Neuron (4) Urethra

Answer (1)

Sol. Nephron is the structural and functional unit of

kidney which actually produces urine in process of

removing waste substance from blood.

82. Lateral ventricles are found in

(1) Cerebellum (2) Cerebral hemisphere

(3) Diencephalon (4) Medulla oblongata

Answer (2)

Sol. Lateral ventricles are two largest cavities of

ventricular system of human brain. Each cerebral

hemisphere contains a lateral ventricle known as left

and right ventricle respectively

83. Cessation of menstrual cycle is called -

(1) Puberty (2) Menarche

(3) Pregancy (4) Menopause

Answer (4)

Sol. Menarche is the starting phase of menstural cycle

and cessation or ending phase of menstural cycle is

menopause.

84. Exchange of gases in human occurs in -

(1) Trachea (2) Pleura

(3) Bronchi (4) Alveoli

Answer (4)

Sol. Alveoli are the tiny air sacs of lungs which allow for

rapid gaseous exchange.

85. Which of the following disease is only due to

external causes ?

(1) Diabetes (2) Arthritis

(3) Jaundice (4) Cataract

Answer (3)

Sol. Jaundice is a disease caused by the contaminated

food and water and this majorly affects liver. It is

caused by accumulation of bilirubin in blood.

86. High yielding varieties of wheat were initially

developed by an Indian scientist by cross breeding

the traditional varieties with -

(1) Mexican Varieties (2) Europian Varieties

(3) American Varieties (4) African Varieties

Answer (1)

Sol. High yielding varieties of wheat were developed by

Indian scientist by cross breeding traditional varieties

with varieties of Mexico. Sonora - 64 and Lerma

Rojo 64 were brought to modified through gamma

mutations.

87. ILS-82 and B-77 breeds are of following -

(1) Cow (2) Fowl

(3) Pig (4) Buffalo

Answer (2)

Sol. ILS-82 and B-77 are breeds of present day chickens

for egg and meat production.

88. A dynamometer D is attached to two masses m
1
 =

3 kg  & m
2
 = 5 kg. Forces of f

1
 = 9N & f

2
 = 25N

are applied to the masses as shown :

The dynamometer will read -

m
2m

1f
1

f
2

(1) 10 N (2) 15 N

(3) 14 N (4) 6 N

Answer (2)

Draw FBD of system

m
2

m
1

25N9N

⇒ Net force = mass × acceleration

⇒ 25 - 9 = (m
1
 + m

2
)a

⇒ 16 = (3 + 5)a

⇒ a = 2 m/s2

Now, FBD of Block m
2

(T =Tension in spring)

m
2 25NT

 Net force = m
2
a

(Spring reading is equal to tension)

⇒ (25 – T) = 5 × 2

⇒ 25 – 10 = T

⇒ T = 15 N

89. A packet of weight W was allowed to fall freely in a

water tank with acceleration 'a' (<g). The magnitude

of resistive force offered by water is -

(1) w
g

a
(2) w

a

g

(3) w 1
a

g

⎛ ⎞⎜ ⎟
⎝ ⎠

(4) w 1
a

g

⎛ ⎞⎜ ⎟
⎝ ⎠

Answer (3)

Sol. Draw FBD of Packet in water

W = weight of plank

F = Buoyant (upthrust)

by liquid
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Net force ⇒  W – F  = ma

F = W – ma

⇒  F = 1
ma

W
W

⎛ ⎞⎜ ⎟
⎝ ⎠

⇒  F = 1
ma

W
mg

⎛ ⎞⎜ ⎟
⎝ ⎠

   F  = 1
a

W
g

⎛ ⎞⎜ ⎟
⎝ ⎠

90. The displacement time graph of a body in motion is

given as below

(s)

Displacement (m)

30
o

Time

Velocity of body is (in m/s)

(1) 3 (2)
1

3

(3) 3 (4)
1

3

Answer (4)

Sol. Slope angle = 60°

 Slope of graph = 3

⇒  3
t

s


⇒  
1

v
 = 3

⇒  v = 
1

3

91. V2 – S graph of moving body in straight line is as

shown in figure. Which one among the following is

not true?

V
2

S

(1) Motion is uniformly accelerated

(2) Corresponding s-t graph will be parabola

(3) Initial velocity of particle is zero

(4) Velocity is time varying

Answer (3)

Sol. Equation of line

v2 = ms + c

At S = 0, V  0

Hence body has some initial velocity.

92. The velocity of sound wave in a given medium is V

when its frequency is  .  The velocity, when

frequency changes to 5   is

(1) 5 V (2)
V

5

(3) 25V (4) V

Answer (4)

Sol. Speed of sound depends on nature of medium,

temperature.

Since neither of them is changing so the speed will

remain same

93. A small block of material having relative density 
1

3

is immersed in liquid and released. The block starts

moving upwards with an acceleration 'a'. The value of

'a' is (g is acceleration due to gravity)

(1) g (2) 2g

(3) 3g (4) 4g

Answer (2)

Sol.

F
B

mg

a

a = 
B
F -mg

m
 = 

0 0 0

0 0

w
v g v g

v

  


   = 
0

0

w
⎛ ⎞  
⎜ ⎟⎝ ⎠

g = 
0

1
w

⎛ ⎞
⎜ ⎟⎝ ⎠

g =  (3–1)g

   = 2g

94. A wooden plank of length 'L' rests on a frictionless

floor. A boy of mass 'M' now runs over the plank

starting from  its one end. If mass of wooden plank

is 
5

M
, the distance covered by the boy relative to

the ground will be -

(1)
6

L
(2)

5

6

L

(3)
5

L
(4)

4

5

L

Answer (1)
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Sol. Since net force on system (wooden plank + boy)

is zero.

Hence the centre of mass of the system will remain

at rest.

Let boy moves x distance w.r.t. ground. Hence distance

travelled by plank w.r.t. ground will be (L – x)

Mx = 
5

M
(L–x)

x =  
1

5
(L–x)

x = 
6

L

95. A rod of length 'l' and mass 'm' fixed at one end, is

hanging vertically. The other end is now raised so

that the rod makes an angle 30o  with horizontal

line.  The work done in this process will be -

(1) mgl (2)
2

mgl

(3)
3

mgl

(4)
4

mgl

Answer (4)

Sol.

l/4
l/2

Centre of mass of rod moves upward by

4

l

then work done = change in P.E. (U)

 = mg
4

l
.

96. Graph shows V-I Characteristics of two resistances,

their series combination & parallel combination.

Identify the resistances, values & graphs -

x
4

x
3

x
2

x
1

I

V

Resistance-1   Resistance-2   Series   Parallel

(1)       x
1
           x

2
          x

3
      x

4

(2)       x
2
           x

3
          x

4
      x

1

(3)       x
3
           x

2
          x

1
      x

4

(4)       x
4
           x

1
          x

2
      x

3

Answer (3)

Sol. Slope of I-V graph gives 
1

R

tan   = 
1

R

So as    ⇒  tan     ⇒ R

x
1
 > x

2
 > x

3
 > x

4

As we know that R
eq

 in series combination is most

and R
eq

 in parallel combination will be least.

So R
eq

 in parallel = x
4

    R
eq

 in series = x
1

97. Two plane mirrors P & Q are kept at? with respect

to each other. Light falls on P is reflected and then

fall on Q and is reflected. The emergent ray is

opposite to incident ray direction. The ? is equal to

(1) 40o (2) 30o

(3) 60o (4) 90o

Answer (4)

Sol. Angle of deviation = 360 – 2 

(   is angle between the mirrors)

180 = 360 – 2 

  = 90o

98. The magnetic field intensity (B) at a distance 'r' from

a long straight conductor carrying a steady current

varies with 'r' as shown in figure -

(1)

B

r

(2)

B

r

(3)

B

r

(4)

B

r

Answer (3)
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Sol. B   
1

r

 for a straight wire.

99. The graph in figure shows how the inverse of

magnification (1/m) produced by a thin convex lens

varies with object distance 'u' the power of lens will

be

1/m

a

b

u

c

(1)
b

c
(2)

b

ca

(3)
bc

a
(4)

c

b

Answer (1)

Sol. From lens formula

1

v
 – 

1

u
 = 

1

f

u

v
 – 1 = 

u

f

u

v
 = 1 + 

u

f

1

m

 = 1 + 
u

f

Comparing with the graph

slope = 
1

f
 = 

b

c

Power = 
b

c

100. In the circuit shown all the measuring instruments

are ideal. The reading in ammeter A
2
 will be

A
1

A
2

10 

5v

1

10 

(1)
1

4
A

(2) 1A

(3) < 
1

4
A

(4) Zero

Answer (4)

Sol. Resistance of ideal ammeter is zero. Hence all the

current will pass through ammeter A
1
.

Hence current in A
2
 is zero.

� � �



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Aachen-Bold
    /AachenBT-Roman
    /AachenLight
    /Abbey-Medium
    /ACaslonPro-Bold
    /ACaslonPro-BoldItalic
    /ACaslonPro-Italic
    /ACaslonPro-Regular
    /ACaslonPro-Semibold
    /ACaslonPro-SemiboldItalic
    /acciondingbattipografia
    /Activa-Bold
    /Activa-BoldItal
    /Activa-Italic
    /AdobeFangsongStd-Regular
    /AdobeHeitiStd-Regular
    /AdobeKaitiStd-Regular
    /AdobeMingStd-Light
    /AdobeMyungjoStd-Medium
    /AdobeSongStd-Light
    /AeroExtendedHollow
    /AGaramondPro-Bold
    /AGaramondPro-BoldItalic
    /AGaramondPro-Italic
    /AGaramondPro-Regular
    /Agate-Bold
    /Agate-Normal
    /Agate-Normal-Italic
    /AgencyFB-Bold
    /AgencyFB-Reg
    /AirlineLogosPastandPresent
    /Albatross
    /Alberta
    /Albertus-Bold
    /AlbertusExtraBold
    /Albertus-ExtraBold
    /AlbertusMedium
    /Albertus-Medium
    /AlbertusMedium-Italic
    /Alex-Fraction-Normal
    /Algeria
    /Algerian
    /AllegroBT-Regular
    /AlleycatICG
    /AlleycatICG-Bold
    /Alpine
    /AlternateGothicNo2BT-Regular
    /Ambrosia
    /Amelia-Normal
    /AmericanTypewriter-Bold
    /AmericanTypewriter-BoldCond
    /AmericanTypewriter-Cond
    /AmericanTypewriter-Light
    /AmericanTypewriter-LightCond
    /AmericanTypewriter-Medium
    /AngsanaNew
    /AngsanaNew-Bold
    /AngsanaNew-BoldItalic
    /AngsanaNew-Italic
    /AngsanaUPC
    /AngsanaUPC-Bold
    /AngsanaUPC-BoldItalic
    /AngsanaUPC-Italic
    /Animals
    /AntiqueOlive
    /Aparajita
    /Aparajita-Bold
    /Aparajita-BoldItalic
    /Aparajita-Italic
    /Apple-Chancery
    /Arabia-Normal
    /ArborisFolium
    /Arenski
    /Arial-Black
    /ArialBlack-Bold
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /Ariston-ExtraBold-Italic
    /Ariston-Normal-Italic
    /ArnoldBoecklin-ExtraBold
    /ArnoPro-Bold
    /ArnoPro-BoldCaption
    /ArnoPro-BoldDisplay
    /ArnoPro-BoldItalic
    /ArnoPro-BoldItalicCaption
    /ArnoPro-BoldItalicDisplay
    /ArnoPro-BoldItalicSmText
    /ArnoPro-BoldItalicSubhead
    /ArnoPro-BoldSmText
    /ArnoPro-BoldSubhead
    /ArnoPro-Caption
    /ArnoPro-Display
    /ArnoPro-Italic
    /ArnoPro-ItalicCaption
    /ArnoPro-ItalicDisplay
    /ArnoPro-ItalicSmText
    /ArnoPro-ItalicSubhead
    /ArnoPro-LightDisplay
    /ArnoPro-LightItalicDisplay
    /ArnoPro-Regular
    /ArnoPro-Smbd
    /ArnoPro-SmbdCaption
    /ArnoPro-SmbdDisplay
    /ArnoPro-SmbdItalic
    /ArnoPro-SmbdItalicCaption
    /ArnoPro-SmbdItalicDisplay
    /ArnoPro-SmbdItalicSmText
    /ArnoPro-SmbdItalicSubhead
    /ArnoPro-SmbdSmText
    /ArnoPro-SmbdSubhead
    /ArnoPro-SmText
    /ArnoPro-Subhead
    /ArtBrush
    /Astrological
    /AU
    /Author-Medium
    /AutoMotive
    /AvantGarde-Book
    /AvantGarde-BookOblique
    /AvantGarde-Demi
    /AvantGarde-DemiOblique
    /AvantGardeITCbyBT-Book
    /AvantGardeITCbyBT-BookOblique
    /AvantGardeITCbyBT-Demi
    /AvantGardeITCbyBT-DemiOblique
    /AvantGardeITCbyBT-Medium
    /AvantGarde-Thin
    /AvantGarde-Thin-Italic
    /Avion
    /BakerSignet
    /Banff-Normal
    /Bangkok-Normal
    /BankGothicBT-Medium
    /Baskerville-Bold
    /Baskerville-Normal
    /Baskerville-Normal-Italic
    /BaskOldFace
    /Batang
    /BatangChe
    /Bats-Symbols
    /Bauhaus93
    /Bauhaus-Heavy-Bold
    /Bauhaus-Light-Light
    /Bauhaus-Thin
    /Beffle
    /BellBottom
    /BellGothic-Black
    /BellGothic-Bold
    /BellGothicStd-Black
    /BellGothicStd-Bold
    /BellMT
    /BellMTBold
    /BellMTItalic
    /Benguiat-Bold
    /BenguiatITCbyBT-Bold
    /Benguiat-Light
    /BerlinSansFB-Bold
    /BerlinSansFBDemi-Bold
    /BerlinSansFB-Reg
    /BernardMT-Condensed
    /BernhardFashionBT-Regular
    /BernhardModernBT-Bold
    /BernhardModernBT-BoldItalic
    /BickhamScriptPro-Bold
    /BickhamScriptPro-Regular
    /BickhamScriptPro-Semibold
    /Birch
    /BirchStd
    /BirdsofaFeather
    /BlackAdderII-Normal
    /BlackadderITC-Regular
    /BlackChancery
    /BlackForest
    /BlackoakStd
    /Blippo-Heavy
    /BocaRatonICG
    /BocaRatonICG-Solid
    /Bodacious-Normal
    /BODIDLYbold
    /Bodoni-Bold
    /Bodoni-BoldCondensed
    /BodoniBoldItalic
    /Bodoni-Book
    /Bodoni-BookItalic
    /BodoniBT-Bold
    /BodoniBT-BoldItalic
    /BodoniBT-Book
    /BodoniBT-BookItalic
    /BodoniMT
    /BodoniMTBlack
    /BodoniMTBlack-Italic
    /BodoniMT-Bold
    /BodoniMT-BoldItalic
    /BodoniMTCondensed
    /BodoniMTCondensed-Bold
    /BodoniMTCondensed-BoldItalic
    /BodoniMTCondensed-Italic
    /BodoniMT-Italic
    /BodoniMTPosterCompressed
    /Bodoni-Normal
    /Bodoni-Normal-Italic
    /BodoniPoster
    /Bodoni-Poster
    /Bodoni-PosterCompressed
    /Bodoni-PosterItalic
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /Bookman-Demi
    /Bookman-DemiItalic
    /Bookman-Light
    /Bookman-LightItalic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /BorderMonSeries1
    /BradleyHandITC
    /Brassfield
    /BremenBT-Bold
    /BritannicBold
    /Broadway
    /Broadway-Normal
    /Brush_Script-Normal
    /BrushScript
    /BrushScriptMT
    /Brush-Script-Normal-Italic
    /BrushScriptStd
    /Busorama
    /CableDingbats
    /Calibri
    /Calibri-Bold
    /Calibri-BoldItalic
    /Calibri-Italic
    /CalifornianFB-Bold
    /CalifornianFB-Italic
    /CalifornianFB-Reg
    /Caligula
    /CalisMTBol
    /CalistoMT
    /CalistoMT-BoldItalic
    /CalistoMT-Italic
    /CalligraphyFLF
    /Camberic
    /Cambria
    /Cambria-Bold
    /Cambria-BoldItalic
    /Cambria-Italic
    /CambriaMath
    /CampanileFLF
    /Candara
    /Candara-Bold
    /Candara-BoldItalic
    /Candara-Italic
    /Candid
    /CarawayBold
    /CarrickCaps
    /Carta-Thin
    /Cartoon-Normal
    /CartWright
    /Cascade-Light
    /Caslon-Bold
    /Caslon-Light
    /CaslonOpenFace
    /CASLONOPENFACE-Thin
    /Castellar
    /CatCrypt
    /Caveman
    /Centaur
    /Century
    /Century725BT-RomanCondensed
    /Century751BT-BoldB
    /Century751BT-BoldItalicB
    /Century751BT-ItalicB
    /Century751BT-No2ItalicB
    /Century751BT-RomanB
    /Century751BT-RomanNo2B
    /Century751BT-SemiBold
    /Century751BT-SemiBoldItalicB
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CenturyOld
    /CenturyOldStyle-Light
    /CenturySchlbkCyrillicBT-Bold
    /CenturySchlbkCyrillicBT-BoldIt
    /CenturySchlbkCyrillicBT-Italic
    /CenturySchlbkCyrillicBT-Roman
    /CenturySchoolbook
    /CenturySchoolbook-Bold
    /CenturySchoolbook-BoldItalic
    /CenturySchoolbookBT-Bold
    /CenturySchoolbookBT-Roman
    /CenturySchoolbook-Italic
    /CenturySchoolbook-Thin
    /CGOmega
    /CGOmega-Bold
    /CGOmega-BoldItalic
    /CGOmega-Italic
    /CGTimes
    /CgTimes
    /CgTimes-Bold
    /CGTimes-Bold
    /CGTimes-BoldItalic
    /CgTimes-BoldItalic
    /CGTimes-Italic
    /CgTimes-Italic
    /Chancery-Bold-Bold
    /Chancery-Medium-Medium
    /Chandini-NormalA
    /ChaparralPro-Bold
    /ChaparralPro-BoldIt
    /ChaparralPro-Italic
    /ChaparralPro-Regular
    /CharlemagneStd-Bold
    /CharlesworthBold
    /CharlieChan-Normal
    /Cheq
    /Chicago
    /ChicagoLaser
    /ChiladaICG-Cuatro
    /ChiladaICG-Dos
    /ChiladaICG-Tres
    /ChiladaICG-Uno
    /ChiliPepper-ExtraBold
    /Chiller-Regular
    /ChiTown-Light
    /CimierHollow
    /CircleBlackHollow
    /Civitype
    /Clarendon-Bold
    /Clarendon-Book
    /ClarendonBT-Black
    /ClarendonBT-Bold
    /ClarendonBT-BoldCondensed
    /ClarendonBT-Heavy
    /ClarendonBT-Light
    /ClarendonBT-Roman
    /ClarendonBT-RomanCondensed
    /Clarendon-Condensed-Bold
    /ClarendonExtended-Bold
    /ClassicHeavy-Light
    /CocaCola
    /Code39AzaleaNarrow1
    /Code39AzaleaNarrow2
    /Code39AzaleaNarrow3
    /Code39AzaleaRegular1
    /Code39AzaleaRegular2
    /Code39AzaleaRegular3
    /Code39AzaleaWide1
    /Code39AzaleaWide2
    /Code39AzaleaWide3
    /Coliseo-Normal
    /CollegeFLF-Black
    /CollegeFLF-Outline
    /CollegiateFLF-Inside
    /CollegiateFLF-Outside
    /CollegiateFLF-Regular
    /Collegiate-Norm
    /ColonnaMT
    /Comaro
    /ComicSansMS
    /ComicSansMS-Bold
    /CompactaBT-Bold
    /CompactaBT-BoldItalic
    /Comptech-Menka
    /Consolas
    /Consolas-Bold
    /Consolas-BoldItalic
    /Consolas-Italic
    /Constantia
    /Constantia-Bold
    /Constantia-BoldItalic
    /Constantia-Italic
    /CooperBlack
    /CooperBlackStd
    /CooperBlackStd-Italic
    /Cooper-Heavy
    /CopperPlate
    /CopperplateGothic-Bold
    /CopperplateGothicBT-Bold
    /CopperplateGothic-Light
    /Copperplate-ThirtyOneAB
    /Copperplate-ThirtyThreeBC
    /Copperplate-TwentyNineAB
    /Corbel
    /Corbel-Bold
    /Corbel-BoldItalic
    /Corbel-Italic
    /CordiaNew-Bold
    /Coronet
    /Coronet-Regular
    /Coronet-SemiBold-Italic
    /Cottonwood-Thin
    /Courier
    /Courier10PitchBT-Bold
    /Courier10PitchBT-BoldItalic
    /Courier10PitchBT-Italic
    /Courier10PitchBT-Roman
    /Courier-Bold
    /Courier-BoldOblique
    /CourierMCY-Bold
    /CourierMCY-BoldObli
    /CourierMCY-Ligh
    /CourierMCY-LighObli
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Courier-Oblique
    /CourierStd
    /CourierStd-Bold
    /CourierStd-BoldOblique
    /CourierStd-Oblique
    /CoventryScriptFLF
    /CracklingFire
    /Crillee
    /CropCircleDingbats
    /CSD-Block-Bold
    /CSD-Chalk-Normal
    /CSD-JERSEY-Normal
    /CuneiFont-Light
    /Cuneiform
    /CuriousDevice
    /CurlzMT
    /Cycling
    /Cyrillic-Bold
    /Cyrillic-Bold-Italic
    /Cyrillic-Normal
    /Cyrillic-Normal-Italic
    /DaunPenh
    /DauphinPlain
    /DavysBigKeyCaps
    /DavysCrappyWriting
    /DavysDingbats
    /DavysKeyCaps
    /DavysNewOther
    /DavysRibbonsShareware
    /DearTeacher-Normal
    /Debussy
    /DecoturaICG
    /DecoturaICG-Inline
    /Deseret
    /DesperadoFLF
    /Devendra
    /DeVinneBT-Text
    /DevLys-010
    /DevLys-010Bold
    /DFGothic-EB-WIN-RKSJ-H
    /DFKaiSho-SB-WIN-RKSJ-H
    /DFMincho-SU-WIN-RKSJ-H
    /DFMincho-UB-WIN-RKSJ-H
    /DFMincho-W5-WIN-RKSJ-H
    /DFPOP1-W9-WIN-RKSJ-H
    /Dickens
    /Diego1-Light
    /digelec-Normal
    /DigifaceWide
    /Diner-Skinny
    /dingbats-Thin
    /Ding-o-saurs
    /DingsbumsBats
    /Dobkin-Script
    /DokChampa
    /DomCasual-Thin
    /Domino-Effect-Normal
    /DorovarFLF-Carolus
    /DorovarFLF-Italic
    /Dotum
    /DotumChe
    /DownWind
    /Dragonwick
    /DragonWick
    /Dubiel
    /DubielItalic
    /DV-TTYogeshBold
    /DV-TTYogeshBoldItalic
    /DV-TTYogeshItalic
    /DV-TTYogeshNormal
    /Ebrima
    /Ebrima-Bold
    /EccentricStd
    /EdwardianScriptITC
    /EileensMediumZodiac-Regular
    /ElectronicsRegular
    /Elephant-Italic
    /Elephant-Regular
    /EmbassyBT-Regular
    /English111VivaceBT-Regular
    /EngraversGothicBT-Regular
    /EngraversMT
    /EPatrika
    /ErasITC-Bold
    /ErasITC-Demi
    /ErasITC-Light
    /ErasITC-Medium
    /EstrangeloEdessa
    /Euclid
    /Euclid-Bold
    /Euclid-BoldItalic
    /EuclidExtra
    /EuclidExtra-Bold
    /EuclidFraktur
    /EuclidFraktur-Bold
    /Euclid-Italic
    /EuclidMathOne
    /EuclidMathOne-Bold
    /EuclidMathTwo
    /EuclidMathTwo-Bold
    /EuclidSymbol
    /EuclidSymbol-Bold
    /EuclidSymbol-BoldItalic
    /EuclidSymbol-Italic
    /EuphemiaCAS
    /Exotic350BT-Bold
    /Exotic350BT-DemiBold
    /Exotic-Normal
    /FamousLogos
    /FelixTitlingMT
    /FencesPlain
    /Fishing
    /FootlightMTLight
    /ForteMT
    /FranklinGothic-Book
    /FranklinGothic-BookItalic
    /FranklinGothic-Demi
    /FranklinGothic-DemiCond
    /FranklinGothic-DemiItalic
    /FranklinGothic-Heavy
    /FranklinGothic-HeavyItalic
    /FranklinGothic-Medium
    /FranklinGothic-MediumCond
    /FranklinGothic-MediumItalic
    /Freehand521BT-RegularC
    /FreestyleScript-Regular
    /FrenchScriptMT
    /FrutigerLinotype-Bold
    /FrutigerLinotype-BoldItalic
    /FrutigerLinotype-Italic
    /FrutigerLinotype-Roman
    /FuturaBlackBT-Regular
    /FuturaBT-Bold
    /FuturaBT-BoldItalic
    /FuturaBT-Book
    /FuturaBT-BookItalic
    /FuturaBT-ExtraBlack
    /FuturaBT-Light
    /FuturaBT-LightItalic
    /FuturaBT-Medium
    /FuturaBT-MediumItalic
    /Gabriola
    /Garamond
    /Garamond-Antiqua
    /Garamond-Bold
    /Garamond-Halbfett
    /Garamond-Italic
    /Garamond-Kursiv
    /Garamond-KursivHalbfett
    /GaramondPremrPro
    /GaramondPremrPro-It
    /GaramondPremrPro-Smbd
    /GaramondPremrPro-SmbdIt
    /Gautami
    /Gautami-Bold
    /Geneva
    /Geometric212BT-BookCondensed
    /Geometric212BT-HeavyCondensed
    /Geometric415BT-BlackA
    /Geometric706BT-BlackCondensedB
    /GeometricSlab703BT-Bold
    /GeometricSlab703BT-BoldCond
    /GeometricSlab703BT-BoldItalic
    /GeometricSlab703BT-Medium
    /GeometricSlab703BT-MediumCond
    /GeometricSlab703BT-MediumItalic
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /GiddyupStd
    /Gigi-Regular
    /GillSansMT
    /GillSansMT-Bold
    /GillSansMT-BoldItalic
    /GillSansMT-Condensed
    /GillSansMT-ExtraCondensedBold
    /GillSansMT-Italic
    /GillSans-UltraBold
    /GillSans-UltraBoldCondensed
    /GloucesterMT-ExtraCondensed
    /GoudyHandtooledBT-Regular
    /GoudyOldStyleBT-Bold
    /GoudyOldStyleBT-BoldItalic
    /GoudyOldStyleBT-Italic
    /GoudyOldStyleBT-Roman
    /GoudyOldStyleT-Bold
    /GoudyOldStyleT-Italic
    /GoudyOldStyleT-Regular
    /GoudyStout
    /Gulim
    /GulimChe
    /Gungsuh
    /GungsuhChe
    /Haettenschweiler
    /HalfLife2
    /HarlowSolid
    /Harrington
    /Hibiscus
    /HighTowerText-Italic
    /HighTowerText-Reg
    /HoboStd
    /HoeflerText-Black
    /HoeflerText-BlackItalic
    /HoeflerText-Italic
    /HoeflerText-Ornaments
    /HoeflerText-Regular
    /Humanist521BT-Bold
    /Humanist521BT-BoldItalic
    /Humanist521BT-Italic
    /Humanist521BT-Light
    /Humanist521BT-LightItalic
    /Humanist521BT-Roman
    /Humanist777BT-BlackB
    /Humanist777BT-BlackCondensedB
    /Humanist777BT-BoldCondensedB
    /Humanist777BT-LightB
    /Humanist777BT-RomanB
    /Humanist777BT-RomanCondensedB
    /IllustrateIT
    /Impact
    /ImprintMT-Shadow
    /InformalRoman-Regular
    /IskoolaPota
    /IskoolaPota-Bold
    /Jahreskreis
    /Jokerman-Regular
    /JuiceITC-Regular
    /KabelITCbyBT-Book
    /KabelITCbyBT-Ultra
    /Kalinga
    /Kalinga-Bold
    /Kartika
    /Kartika-Bold
    /KaufmannBT-Regular
    /KhmerUI
    /KhmerUI-Bold
    /Kokila
    /Kokila-Bold
    /Kokila-BoldItalic
    /Kokila-Italic
    /KozGoPro-Bold
    /KozGoPro-ExtraLight
    /KozGoPro-Heavy
    /KozGoPro-Light
    /KozGoPro-Medium
    /KozGoPro-Regular
    /KozMinPro-Bold
    /KozMinPro-ExtraLight
    /KozMinPro-Heavy
    /KozMinPro-Light
    /KozMinPro-Medium
    /KozMinPro-Regular
    /KristenITC-Regular
    /KrutiDev010
    /KrutiDev020Bold
    /KrutiDev020Wide
    /KrutiDev040Wide
    /Kundli-English
    /KunstlerScript
    /LaoUI
    /LaoUI-Bold
    /Latha
    /Latha-Bold
    /LatinWide
    /LetterGothic-Italic
    /LetterGothicStd
    /LetterGothicStd-Bold
    /LetterGothicStd-BoldSlanted
    /LetterGothicStd-Slanted
    /Lithograph-Bold
    /LithographLight
    /LithosPro-Black
    /LithosPro-Regular
    /LMG-Arun
    /LucidaBright
    /LucidaBright-Demi
    /LucidaBright-DemiItalic
    /LucidaBright-Italic
    /LucidaCalligraphy-Italic
    /LucidaConsole
    /LucidaFax
    /LucidaFax-Demi
    /LucidaFax-DemiItalic
    /LucidaFax-Italic
    /LucidaHandwriting-Italic
    /LucidaSans
    /LucidaSans-Demi
    /LucidaSans-DemiItalic
    /LucidaSans-Italic
    /LucidaSans-Typewriter
    /LucidaSans-TypewriterBold
    /LucidaSans-TypewriterBoldOblique
    /LucidaSans-TypewriterOblique
    /LucidaSansUnicode
    /Magneto-Bold
    /MaiandraGD-Regular
    /MalgunGothic
    /MalgunGothicBold
    /MalgunGothicRegular
    /Mangal
    /Mangal-Bold
    /Mangal-Regular
    /MapInfoCartographic
    /Map-Symbols
    /Marlett
    /MarquisDeSadeOrnaments
    /MaturaMTScriptCapitals
    /Meiryo
    /Meiryo-Bold
    /Meiryo-BoldItalic
    /Meiryo-Italic
    /MeiryoUI
    /MeiryoUI-Bold
    /MeiryoUI-BoldItalic
    /MeiryoUI-Italic
    /MesquiteStd
    /MicrosoftHimalaya
    /MicrosoftJhengHeiBold
    /MicrosoftJhengHeiRegular
    /MicrosoftNewTaiLue
    /MicrosoftNewTaiLue-Bold
    /MicrosoftPhagsPa
    /MicrosoftPhagsPa-Bold
    /MicrosoftSansSerif
    /MicrosoftTaiLe
    /MicrosoftTaiLe-Bold
    /MicrosoftYaHei
    /MicrosoftYaHei-Bold
    /Microsoft-Yi-Baiti
    /MingLiU
    /MingLiU-ExtB
    /Ming-Lt-HKSCS-ExtB
    /Ming-Lt-HKSCS-UNI-H
    /MinionPro-Bold
    /MinionPro-BoldCn
    /MinionPro-BoldCnIt
    /MinionPro-BoldIt
    /MinionPro-It
    /MinionPro-Medium
    /MinionPro-MediumIt
    /MinionPro-Regular
    /MinionPro-Semibold
    /MinionPro-SemiboldIt
    /Mistral
    /MMaArrow-Bold
    /MMaArrow-Regular
    /MMaBinary-Bold
    /MMaBinary-Regular
    /MMaCenturyB-BoldItalic
    /MMaCenturyB-Italic
    /MMaCentury-Bold
    /MMaCentury-BoldItalic
    /MMaCentury-Italic
    /MMaCentury-Regular
    /MMaEtc-Bold
    /MMaEtc-Regular
    /MMaExtra-Bold
    /MMaExtra-Regular
    /MMaFermat-Bold
    /MMaFermat-Regular
    /MMaFraktur-Bold
    /MMaFraktur-Regular
    /MMaGauss-Bold
    /MMaGauss-Regular
    /MMaGreekB-BoldItalic
    /MMaGreekB-Italic
    /MMaGreek-Bold
    /MMaGreek-BoldItalic
    /MMaGreek-Italic
    /MMaGreek-Regular
    /MMaNegate-Bold
    /MMaNegate-Regular
    /MMaPascal-Bold
    /MMaPascal-Regular
    /MMaRelation-Bold
    /MMaRelation-Regular
    /MMArrow
    /MMaTextBook-Bold
    /MMaTextBook-BoldItalic
    /MMaTextBook-Italic
    /MMaTextBook-Regular
    /MMaVariableA-Bold
    /MMaVariableA-Regular
    /MMaVariableB-Bold
    /MMaVariable-Bold
    /MMaVariableB-Regular
    /MMaVariableC-Bold
    /MMaVariableC-Regular
    /MMaVariableD-Bold
    /MMaVariableD-Regular
    /MMaVariable-Regular
    /MMBinary
    /MMCenturyOld
    /MMCenturyOldBold
    /MMCenturyOldBoldItalic
    /MMCenturyOldItalic
    /MMEtc
    /MMExtra
    /MMGreek
    /MMGreekBold
    /MMNegate
    /MMRelation
    /MMTextBook
    /MMTextBookBold
    /MMTextBookBoldItalic
    /MMTextBookItalic
    /MMTimesBold
    /MMTimesBoldItalic
    /MMTimesItalic
    /MMTimesRoman
    /MMVariable
    /MMVariableA
    /MMVariableB
    /MMVariableC
    /MMVariableD
    /Modern-Regular
    /Monaco
    /MongolianBaiti
    /MonotypeCorsiva
    /MS-Gothic
    /MS-Mincho
    /MSOutlook
    /MS-PGothic
    /MS-PMincho
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MS-UIGothic
    /MT-Extra
    /MVBoli
    /MyriadPro-Bold
    /MyriadPro-BoldCond
    /MyriadPro-BoldCondIt
    /MyriadPro-BoldIt
    /MyriadPro-Cond
    /MyriadPro-CondIt
    /MyriadPro-It
    /MyriadPro-Regular
    /MyriadPro-Semibold
    /MyriadPro-SemiboldIt
    /NATOKit
    /New
    /NewBrunswickBold
    /NewBrunswick-Bold
    /NewBrunswick-BoldItalic
    /NewBrunswick-Italic
    /NewBrunswickNormal
    /NewBrunswick-Normal
    /NewBrunswickPlain
    /News701BT-BoldA
    /News701BT-ItalicA
    /News706BT-BoldC
    /NewsGothicBT-Bold
    /NewsGothicBT-BoldItalic
    /NewsGothicBT-Demi
    /NewsGothicBT-Italic
    /NewsGothicBT-Light
    /NewsGothicBT-Roman
    /NewsGothicBT-RomanCondensed
    /NewYork
    /NiagaraEngraved-Reg
    /NiagaraSolid-Reg
    /Novarese-MediumItalic
    /NSimSun
    /NuevaStd-BoldCond
    /NuevaStd-BoldCondItalic
    /NuevaStd-Cond
    /NuevaStd-CondItalic
    /Nyala-Regular
    /OCRAbyBT-Regular
    /OCRAExtended
    /OCRAStd
    /OCRB10PitchBT-Regular
    /OldEnglishTextMT
    /Onyx
    /OpenLogos
    /OratorStd
    /OratorStd-Slanted
    /OzHandicraftBT-Roman
    /PalaceScriptMT
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /Papyrus-Regular
    /Parchment-Regular
    /Perpetua
    /Perpetua-Bold
    /Perpetua-BoldItalic
    /Perpetua-Italic
    /PerpetuaTitlingMT-Bold
    /PerpetuaTitlingMT-Light
    /PlantagenetCherokee
    /Playbill
    /PMingLiU
    /PMingLiU-ExtB
    /PoorRichard-Regular
    /PoplarStd
    /PostAntiqua-Light
    /PosterBodoniBT-Roman
    /PrestigeEliteStd-Bd
    /Pristina-Regular
    /Prose_Antique-Bold
    /Prose_Antique-Normal
    /ProWrestlingLogos
    /Raavi
    /RageItalic
    /Ravie
    /Rockwell
    /Rockwell-Bold
    /Rockwell-BoldItalic
    /Rockwell-Condensed
    /Rockwell-CondensedBold
    /Rockwell-ExtraBold
    /Rockwell-Italic
    /RosewoodStd-Regular
    /Rupee
    /RupeeForadian
    /SchadowBT-Bold
    /SchadowBT-Roman
    /ScriptMTBold
    /SeagullBT-Medium
    /SegoeScript
    /SegoeScript-Bold
    /SegoeUI
    /SegoeUI-Bold
    /SegoeUI-BoldItalic
    /SegoeUI-Italic
    /SegoeUI-Light
    /SegoeUI-SemiBold
    /SegoeUISymbol
    /SerifaBT-Bold
    /SerifaBT-Italic
    /SerifaBT-Roman
    /SerifaBT-Thin
    /Ships
    /ShonarBangla
    /ShonarBangla-Bold
    /ShowcardGothic-Reg
    /Shruti
    /Shruti-Bold
    /Shusha
    /Shusha02
    /Shusha05
    /SimSun
    /SimSun-ExtB
    /SnapITC-Regular
    /SonicMegaFont
    /SouvenirITCbyBT-Demi
    /SouvenirITCbyBT-DemiItalic
    /SouvenirITCbyBT-Light
    /SouvenirITCbyBT-LightItalic
    /Square721BlkItalic
    /Square721BlkNormal
    /Square721BoldItalic
    /Square721BT-Bold
    /Square721BT-BoldCondensed
    /Square721BT-BoldExtended
    /Square721BTItalic
    /Square721BT-Roman
    /Square721BT-RomanCondensed
    /Square721BT-RomanExtended
    /Square721DmItalic
    /Square721DmNormal
    /SquareSlabserif711BT-Bold
    /SquareSlabserif711BT-Light
    /SquareSlabserif711BT-Medium
    /Staccato222BT-Regular
    /Stencil
    /StencilStd
    /StymieBT-Bold
    /StymieBT-Light
    /Sundings2JL
    /SundingsJL
    /Swiss721BT-Black
    /Swiss721BT-BlackCondensed
    /Swiss721BT-BlackCondensedItalic
    /Swiss721BT-BlackExtended
    /Swiss721BT-BlackItalic
    /Swiss721BT-BlackNo2
    /Swiss721BT-BlackOutline
    /Swiss721BT-BlackRounded
    /Swiss721BT-Bold
    /Swiss721BT-BoldCondensed
    /Swiss721BT-BoldCondensedItalic
    /Swiss721BT-BoldCondensedOutline
    /Swiss721BT-BoldExtended
    /Swiss721BT-BoldItalic
    /Swiss721BT-BoldOutline
    /Swiss721BT-BoldRounded
    /Swiss721BT-Heavy
    /Swiss721BT-HeavyItalic
    /Swiss721BT-Italic
    /Swiss721BT-ItalicCondensed
    /Swiss721BT-Light
    /Swiss721BT-LightCondensed
    /Swiss721BT-LightCondensedItalic
    /Swiss721BT-LightExtended
    /Swiss721BT-LightItalic
    /Swiss721BT-Medium
    /Swiss721BT-MediumItalic
    /Swiss721BT-Roman
    /Swiss721BT-RomanCondensed
    /Swiss721BT-RomanExtended
    /Swiss721BT-Thin
    /Swiss721BT-ThinItalic
    /Swiss911BT-ExtraCompressed
    /Swiss911BT-UltraCompressed
    /Swiss921BT-RegularA
    /Swiss924BT-RegularB
    /SwitzerlandBlackPSMT
    /SwitzerlandCondBlackPSMT
    /SwitzerlandCondensedPSMT
    /SwitzerlandCondLightPSMT
    /SwitzerlandInseratPSMT
    /SwitzerlandLightPSMT
    /SwitzerlandNarrowBold
    /SwitzerlandNarrowBoldItalic
    /SwitzerlandNarrowItalic
    /SwitzerlandNarrowPlain
    /SwitzerlandPSMT
    /Sylfaen
    /Symbol
    /SymbolMT
    /Taffy
    /Tahoma
    /Tahoma-Bold
    /Talkies
    /TektonPro-Bold
    /TektonPro-BoldCond
    /TektonPro-BoldExt
    /TektonPro-BoldObl
    /TempusSansITC
    /Traffic
    /TrajanPro-Bold
    /TrajanPro-Regular
    /TransportRegular
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Tunga
    /Tunga-Bold
    /Tunga-Regular
    /TwCenMT-Bold
    /TwCenMT-BoldItalic
    /TwCenMT-Condensed
    /TwCenMT-CondensedBold
    /TwCenMT-CondensedExtraBold
    /TwCenMT-Italic
    /TwCenMT-Regular
    /TypoUprightBT-Regular
    /UKDigitalTVChannelLogos
    /UKtvFamilyLogos
    /Univers-BoldItalic
    /Univers-Condensed-Bold
    /Univers-Condensed-BoldItalic
    /Univers-Condensed-Medium
    /Univers-Condensed-MediumItalic
    /Univers-Medium
    /Univers-MediumItalic
    /Utsaah
    /Utsaah-Bold
    /Utsaah-BoldItalic
    /Utsaah-Italic
    /Vani
    /Vani-Bold
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /Vijaya
    /Vijaya-Bold
    /VinerHandITC
    /Vivaldii
    /VladimirScript
    /Vrinda
    /Vrinda-Bold
    /WalkmanChanakya901Bold
    /WalkmanChanakya901Bold-Italic
    /WalkmanChanakya901Normal
    /WalkmanChanakya901Normal-Italic
    /WalkmanChanakyaBoldx901Normal
    /WalkmanChanakyaItalix901Normal
    /WarnerLogoFontNine
    /WCSoldOutDBta
    /Webdings
    /WeInside
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /WP-ArabicScriptSihafa
    /WP-ArabicSihafa
    /WP-BoxDrawing
    /WP-CyrillicA
    /WP-CyrillicB
    /WP-GreekCentury
    /WP-GreekCourier
    /WP-GreekHelve
    /WP-HebrewDavid
    /WP-IconicSymbolsA
    /WP-IconicSymbolsB
    /WP-Japanese
    /WP-MathA
    /WP-MathB
    /WP-MathExtendedA
    /WP-MathExtendedB
    /WP-MultinationalAHelve
    /WP-MultinationalARoman
    /WP-MultinationalBCourier
    /WP-MultinationalBHelve
    /WP-MultinationalBRoman
    /WP-MultinationalCourier
    /WP-Phonetic
    /WPTypographicSymbols
    /WWSafari
    /ZapfChancery-MediumItalic
    /ZapfDingbats
    /ZapfDingbatsITCbyBT-Regular
    /ZapfElliptical711BT-Bold
    /ZapfElliptical711BT-BoldItalic
    /ZapfElliptical711BT-Italic
    /ZapfElliptical711BT-Roman
    /ZurichBT-RomanExtended
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /Warning
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /Warning
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /Warning
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages false
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


